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Topic:­ G3_General Knowledge
1)

Question Stimulus :­

General Knowldge

To which sport, Aslam Sher Khan is related to? / अऺलम षॕर खॊन ोकऺ खॕल ऺॕ  ॠऺबॠोधत ऻॖ?

Cricket / ोॿकॕट

Football / फॏ टबॗल

Basketball / बॊĀॕटबॗल

Hockey / ऻॗकॎ

Correct Answer :­Hockey / ऻॗकॎ 

2)

Question Stimulus :­

General Knowledge

Who is the speaker of Rajya Sabha? / रॊĀ ऺभॊ कॕ ऺभॊपोत कग़न ऻ॰?

Sumitra Mahajan /  ॏऺोमআॊ मऻॊजन

Hamid Ansari / ऻॊोमद अॠऺॊरॎ



P. J. Kurien / पॎ.जॕ.कॏ ौरयन

Najma Heptullah / नजमॊ ऻॕपतॏĀॊऻ

Correct Answer :­Hamid Ansari / ऻॊोमद अॠऺॊरॎ 

3)

Question Stimulus :­

General Knowledge

Madhya Pradesh is NOT the largest producer in India for which of the following? / ोदए गए ोशकĀख़ॠ म७ ऺॕ
मĀ ঋदॕष भॊरत कॊ ोकऺकॊ बीॊ उĀॊदक नऻॎ ॠ ऻ॰?

Soyabean / ऺख़यॊबॎन

Pulse  / दॊल

Garlic / लऻ ॏऺन

Cement / ऺॎम७ट

Correct Answer :­Cement / ऺॎम७ट 

4)

Question Stimulus :­

General Knowledge

Maximum strength of Rajya Sabha is: / रॊĀ ऺभॊ कॎ अोधकतम  ॠऺূॊ ऻॖ:

250 / ͙͗͜



285 / ͙͟͜

310 / ͚͗͘

330 / ͚͚͗

Correct Answer :­250 / ͙͗͜ 

5)

Question Stimulus :­

General Knowledge

The Rajat Jalprapat is located at _________, Madhya Pradesh? / मĀ ঋदॕष म७ रजत जलঋपॊत
__________म७ ्Āथत ऻॖ? 

Panchgani / पॠचगनॎ

Pachmarhi / पॠचमुॎ

Mount Abu / मॊउॠट अबॐ

Betul / बॕतॏल

Correct Answer :­Pachmarhi / पॠचमुॎ 

6)

Question Stimulus :­

General Knowledge

The district of Alirajpur of Madhya Pradesh was formed after splitting from ________. / मĀ ঋदॕष कॕ
अलॎरॊजपॏर ोजलॕ कॊ ोनमॊ१ण ________ ऺॕ बॠटशॊरॕ कॕ बॊद ॽआ थॊ।



Jhabua / झबॏआ

Dhar / धॊर

Indore / इॠदग़र

Khandwa / खॊॠडशॊ

Correct Answer :­Jhabua / झबॏआ 

7)

Question Stimulus :­

General Knowledge

The sculptures of Khajuraho of Madhya Pradesh are dedicated to Lord ______ ? / मĀ ঋदॕष कॎ खजॏरॊऻख़
कॎ मॐोत१यॊँ भगशॊन _______ कख़ ऺमोप१त ऻॖ? 

Krishna  / क॑Āॊ

Buddha  / बॏĀॊ

Mahavira  / मऻॊशॎर

Shiva / ोषश

Correct Answer :­Shiva / ोषश 

8)

Question Stimulus :­

General Knowledge

The Military headquarter of war is situated at ________. / यॏĀ कॊ ऺॖोनक मॏূॊलय ________ म७ ्Āथत ऻॖ|



The Military headquarter of war is situated at ________. / यॏĀ कॊ ऺॖोनक मॏূॊलय ________ म७ ्Āथत ऻॖ|

MHOW / मॾ

Bairagarh / बॖरॊगढ

Bhopal / भख़पॊल

Gwalior / ৖ॊोलयर

Correct Answer :­MHOW / मॾ 

9)

Question Stimulus :­

General Knowledge

Amarkantak is the highest elevation of _______ ranges. / अमरकॠ टक ________ पश१त ঒ॕोणयख़ ॠ कॎ ऺशॳৡ
ऊॠ चॊई ऻॖ|

Vindhya / ोशॠĀ

Satpura / ऺतपॏरॊ

Aravali / अरॊशलॎ

Sahyadhri / ऺĀॊঈॎ

Correct Answer :­Vindhya / ोशॠĀ 

10)

Question Stimulus :­



General Knowledge

In which district of Madhya Pradesh, the Pathakhera, Sarni coal mines are situated? / पॊथॊखॕीॊ कॊ
ऺॊरणॎ कख़यलॊ खॊĀॊन,मĀ ঋदॕष कॕ ोकऺ ोिलॕ म७ ्Āथत ऻॖ?

Hoshangabad / ऻख़षॠगॊबॊद

Sehore / ऺॕऻख़र

Betul / बॕतॏल

Satna / ऺतनॊ

Correct Answer :­Betul / बॕतॏल 

11)

Question Stimulus :­

General Knowledge

Who discovered the light bulb? / ঋकॊष बĀ कॎ खख़ज ोकऺनॕ कॎ?

Edison / एोडऺन

Einstein / आइॠĀॊइन

Mary Curie / मॖरॎ ভॐरॎ

Newton / ကॐटन

Correct Answer :­Edison / एोडऺन 

12)



Question Stimulus :­

General Knowledge

The process through which the digestive tract of a patient is examined through a flexible tube with
camera and light is known as: / ঋोॿयॊ ोजऺकॕ मॊĀम ऺॕ रख़गॎ कॎ पॊचन तॠআ कॎ जॊँच एक लचॎलॕ Āॐब कॕ ကॊरॊ कॖमरॊ और
ঋकॊष कॕ मॊĀम ऺॕ कॎ जॊतॎ ऻॖ उऺॕ कऻतॕ ऻ॰:

Sonography / ऺख़नख़ঁॊफॎ       

Endoscopy / अĀॡ दष१न जॊँच

Mammography / मॖमख़ঁॊफॎ

Barium test / बॕौरयम परॎ঴ण

Correct Answer :­Endoscopy / अĀॡ दष१न जॊँच 

13)

Question Stimulus :­

General Knowledge

The Madhya Pradesh is covering approximately _______ % of the country’s area. / दॕष कॕ ঴ॕআ कॊ
लगभग  _______% भॊग मĀ ঋदॕष ऺॕ ढकॊ ॽआ ऻॖ| 

2 / ͙

5 / ͜

10  / ͗͘

15 / ͘͜ 



Correct Answer :­10  / ͗͘ 

14)

Question Stimulus :­

General Knowledge

The numeric scale, which shows acidity and basicity of an aqueous solution? / जलॎय घख़ल कॕ अĀतॊ और
঴ॊरतॊ कख़ ोदखॊनॕशॊलॊ ऺॊॠ्ূक मॊपन ভॊ ऻॖ ऻॖ?

dB / डॎबॎ

μH / यॐएच

pH / पॎएच

qT / ভॐटॎ

Correct Answer :­pH / पॎएच 

15)

Question Stimulus :­

General Knowledge

Which of the following cabinet minister in Central government is NOT a Member of Parliament from
Madhya Pradesh? / ोनĀोल्खत म७ ऺॕ क७ ঈ ऺरकॊर कॕ कग़न ऺॕ क७ ঈॎय मॠআॎ मĀ ঋदॕष कॕ  ॠऺऺद कॕ ऺदĀ नऻॎ ॠ ऻ॰? 

Uma Bharti / उमॊ भॊरतॎ  

Sushma Swaraj /  ॏऺहमॊ Āरॊज

Narendra Singh Tomar / नरॕက ो ॠऺऻ तख़मर



Thawar  Chand Gehlot / थॊशर चॠद गऻलख़त

Correct Answer :­Uma Bharti / उमॊ भॊरतॎ   

Topic:­ G3_General Hindi
1)

Question Stimulus :­

Hindi

‘ोशĀॊन’ षĀ म७ उपऺग१ ऻख़गॊ­

ोशĀ  

ोचर

ोश

अन

Correct Answer :­ोश 

2)

Question Stimulus :­

Hindi

‘पग़ बॊरऻ ऻख़नॊ’ मॏऻॊशरॕ कॊ अथ१ ऻख़गॊ­

लॊभ ऻॎ लॊभ

इĀत जॊनॊ



ल्Āत ऻख़नॊ

बॽत खॏष ऻख़नॊ

Correct Answer :­लॊभ ऻॎ लॊभ 

3)

Question Stimulus :­

Hindi

‘नॊोशक’ म७  ॠऺोध ोशৢॕद ऻख़गॊ­

नग़+इक     

नॊ+इक

नख़+इक     

नॊ+ोशक

Correct Answer :­नग़+इक      

4)

Question Stimulus :­

Hindi

‘अम॑त’ कॊ पयॊ१यशॊचॎ षĀ ऻख़गॊ­

ॏऺधॊ

कग़मॏदॎ



मĀथ

ॏऺधॊकर

Correct Answer :­ ॏऺधॊ 

5)

Question Stimulus :­

Hindi

एक षĀ कॕ तॎन अनॕकॊथ५ षĀ ऻ॰; जख़ ‘अॠक’ षĀ इऺ ঒ॕणॎ म७ नऻॎ ॠ आतॊ ऻॖ­ शऻॎ उĀर ऻख़गॊ­

ोचĀ  

 लॕख

अ঴र

ঋक॑ोत

Correct Answer :­ঋक॑ोत 

6)

Question Stimulus :­

Hindi

‘Āॊगतम्’ म७ कग़न ऺॎ  ॠऺोध ऻख़गॎ­

ोशऺग१  ॠऺोध

गॏण  ॠऺोध



यण  ॠऺोध     

इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­यण  ॠऺोध      

7)

Question Stimulus :­

Hindi

अनॕक षĀख़ॠ कॕ ोलए एक षĀ कॊ चयन कॎोजए­

‘ोजऺॕ पुनॊ­ोलखनॊ आतॊ ऻख़’­

अĀĀॊनॎ   

ोषो঴त

बॏ्Āजॎशॎ    

ऺॊ঴र

Correct Answer :­ऺॊ঴र 

8)

Question Stimulus :­

Hindi

‘ऺॊकॕत’ कॕ रचनॊकॊर कग़न ऻ॰?

मॖोथलॎषरण गॏĀ    



जयषॠकर ঋऺॊद

रॊमधॊरॎ ो ॠऺऻ ोदनकर

मऻॊदॕशॎ शमॊ१

Correct Answer :­मॖोथलॎषरण गॏĀ     

9)

Question Stimulus :­

Hindi

ोनĀोल्खत म७ षॏĀ शॊভ कॊ चयन कॎोजए­

भॊरत म७ अनॕकख़ ॠ जॊोतयॗ ऻ॰।

भॊरत म७ अनॕक जॊोतयॗ ऻ॰।

भॊरत म७ अनॕकख़ ॠ जॊोत ऻ॰।

भॊरत म७ अनॕक जॊोत ऻ॰।

Correct Answer :­भॊरत म७ अनॕक जॊोतयॗ ऻ॰। 

10)

Question Stimulus :­

Hindi

‘रॠक’ षĀ कॊ ोशलख़म ऻख़गॊ­

बलशॊन     



धनशॊन

ोकऺॊन

मजदॐ र

Correct Answer :­धनशॊन 

11)

Question Stimulus :­

Hindi

‘रॊजपॏॹह’ म७ ऺमॊऺ ऻख़गॊ­

कम१धॊरय    

ोကगॏ

तĀॏॹह     

ကĀက

Correct Answer :­तĀॏॹह      

12)

Question Stimulus :­

Hindi

‘मनग़तॎ’ म७ कग़न ऺॊ ঋĀय ऻॖ?

औतॎ



तॎ

आतॎ

ई

Correct Answer :­औतॎ 

13)

Question Stimulus :­

Hindi

ঋॊथोमक Āर पर ोष঴ॊ कॊ मॊĀम ऻख़नॊ चॊोऻए­

रॊĀ३भॊहॊ     

रॊजभॊहॊ

Āथॊनॎय भॊहॊ

मॊत॑भॊहॊ

Correct Answer :­मॊत॑भॊहॊ 

14)

Question Stimulus :­

Hindi

नॎचॕ ोलखॕ षĀख़ॠ म७ कग़न षĀ षॏ़ Ā ऻॖ?

कशोयআॎ     



कोशोयআॎ

कोशयআॎ     

कशॎोयআॎ

Correct Answer :­कशोयআॎ      

15)

Question Stimulus :­

Hindi

ोनĀोल्खत षĀख़ॠ म७ ऺॕ ोभĀ षĀ कॊ चयन कॎोजए­

ঋॊय: 

अशऺर

ऺश१दॊ 

बॽधॊ

Correct Answer :­अशऺर 

Topic:­ G3_General English
1)

Question Stimulus :­

English

Identify the given sentence.



Would you like to order anything else?

Interrogative

Imperative

Exclamatory

Declarative

Correct Answer :­Interrogative 

2)

Question Stimulus :­

English

Fill in the blank.

I will bring it the next time I _________.

will come

come

came

am coming

Correct Answer :­come 

3)

Question Stimulus :­



English

Complete the idiom: 

He doesn’t scare me. He is all bark and no _______.

hurt

bite

take

fire

Correct Answer :­bite 

4)

Question Stimulus :­

English

The following sentence is split in three parts and each one is labelled (A), (B), and (C). Read the
sentence to find out whether there is an error in any part. Letter (D) signifies a ‘No error’. 

Everyone was very happy with him (A) as he asked (B) really stupid questions (C).

A) Everyone was very happy with him

B) as he asked

C) really stupid questions

D) No error

Correct Answer :­A) Everyone was very happy with him 



5)

Question Stimulus :­

English

Which of the below given words is spelt correctly?

Ocasion

Occassion

Ocassion

Occasion

Correct Answer :­Occasion 

6)

Question Stimulus :­

English

Complete the idiom:

He and I agree completely. Great minds think _______.

same

similar

different

alike



Correct Answer :­alike 

7)

Question Stimulus :­

English

Find the odd word out:

Happy, cheerful, delighted, sorrowful

Happy 

Cheerful

Delighted

Sorrowful

Correct Answer :­Sorrowful 

8)

Question Stimulus :­

English

Fill in the blank.

The new employee tried to __________ his boss by doing more work.

express

threaten



impress

attack

Correct Answer :­impress 

9)

Question Stimulus :­

English

The following sentence is split in three parts and each one is labelled (A), (B), and (C). Read the
sentence to find out whether there is an error in any part. Letter (D) signifies a ‘No error’. 

I am understanding (B) everything that is (B) being said (C).

A) I am understanding

B) everything that is

C) being said

D) No error

Correct Answer :­A) I am understanding 

10)

Question Stimulus :­

English

Identify the given sentence:

Sarah and Tina went to meet Jim but he was not there.



Complex

Compound

Interrogative

Simple

Correct Answer :­Compound 

11)

Question Stimulus :­

English

Which of the below given words is spelt correctly?

Narrative

Narative

Narrattive

Narattive

Correct Answer :­Narrative 

12)

Question Stimulus :­

English

Identify the given sentence:



Oh what a beautiful day it is!

Declarative

Interrogative

Exclamatory

Imperative

Correct Answer :­Exclamatory 

13)

Question Stimulus :­

English

Fill in the blank.

It was so ____________ that I had to shield my eyes.

light

dark

dim

bright

Correct Answer :­bright 

14)

Question Stimulus :­



English

Fill in the blank.

I hope it doesn’t rain, when she __________.

leave

leaves

is leaving

has leave

Correct Answer :­leaves 

Topic:­ G3_General Maths
1)

Question Stimulus :­

Maths

Priyanka deposited a sum of money with a bank, paying r% per annum compound interest. It
doubles itself in 8 years. In how many years the ratio between principal and interest earned would
be 1 : 3? / ोঋयॠकॊ ब॰क म७  ॠऺचय रॊोष कख़  आर% ঋोत ऺॊलॊनॊ कॕ चॿश॑ोध Āॊज  कॕ भॏगतॊन पर जमॊ करतॎ ऻॖ|शऻ ͟ ऺॊल म७ ऻॎ
दख़गॏनॊ ऻख़ जॊतॊ ऻॖ|तख़ ोकतनॕ शहॵ बॊद मॐलधन और Āॊज कॕ बॎच कॊ अनॏपॊत ͘:͚ ऻख़ जॊएगॊ? 

16 years / ͘͝ ऺॊल

͘͜.͜ ऺॊल / 15.5 years                      

24 years / ͙͛ऺॊल

͛͘ ऺॊल / 14 years                        



Correct Answer :­16 years / ͘͝ ऺॊल 

2)

Question Stimulus :­

Maths

ABC is a smallest 3 digit number which when divided by 3, 5, 6 or 4 leaves remainder 1 in each
case. What is the value of A+B+C? / एबॎऺॎ ͚ अॠकख़ ॠ कॎ ऺबऺॕ छख़टॎ  ॠऺূॊ ऻॖ जब उऺॕ ͚,͜,͝ ओर ͛ ऺॕ ोशभॊोजत
करतॕ ऻ॰ तख़ षॕह ͘ बचतॊ ऻॖ|तख़ ए+बॎ+ऺॎ कॊ मॊन ोनकॊल७? 

3 / ͚

4 / ͛

5 / ͜

2 / ͙

Correct Answer :­4 / ͛ 

3)

Question Stimulus :­

Maths

Find the value of fifth decile of the following series: 10, 12, 9, 11, 23, 18, 19, 13, 21. / ोनĀोल्खत
ॻॠखलॊ कॕ पॊॠचश७ दषमक कॊ मॊन ोनकॊल७: ͗͘,͙͘,͠,͘͘,͙͚,͘͟,͘͠,͚͘,͙͘|

23 / ͙͚

13 / ͚͘



18 / ͘͟

11 / ͘͘

Correct Answer :­13 / ͚͘ 

4)

Question Stimulus :­

Maths

A passenger train, 200 metres long is running at a rate of 45 km/hr. How much time would it take
to pass a certain lamp post? / ͙͗͗ मॎटर लĀॊई कॎ यॊআॎ ट३ ॕन ͛͜ ोकमॎ/घॠटॕ कॎ दर ऺॕ चलतॎ ऻॖ|तख़ एक ोनोĀत ल॰प पख़Ā कख़
पॊर करनॕ कॕ ोलए शऻ ोकतनॊ ऺमय लॕगॎ? 

18 secs / ͘͟ ऺॕकॠ ड

16 secs / ͘͝ ऺॕकॠ ड

20 secs / ͙͗ ऺॕकॠ ड          

21 secs / ͙͘ ऺॕकॠ ड

Correct Answer :­16 secs / ͘͝ ऺॕकॠ ड 

5)

Question Stimulus :­

Maths

The expression 3x2 + 5x – 12 is divisible by which of the following expression? / ोनĀोल्खत ोकन ကॠजक
ऺॕ ͚x͙ + ͜x – ͙͘ कख़ ोशभॊोजत ोकयॊ जॊतॊ ऻॖ?



(x – 3) / (x­͚)

(x + 4) / (x+͛)

(2x + 3) / (͙x+͚)

(3x – 4) / (͚x­͛)

Correct Answer :­(3x – 4) / (͚x­͛) 

6)

Question Stimulus :­

Maths

Aditya, Bimla and Carol work in a company. The ratio of age of Aditya and Bimla is 13 : 11 and ratio
of age of Bimla and Carol is 11 : 14. If the sum of their ages is 76 years, what is the difference
between the age of Aditya and Carol? / आोदĀ,ोबमलॊ और कॖरख़ल एक ऻॎ कॠ पनॎ म७ कॊम करतॕ ऻ॰|आोदĀ और ोबमलॊ
कॎ उএ कॊ अनॏपॊत ͚͘:͘͘ ऻॖ और ोबमलॊ और कॖरख़ल कॎ उএ कॊ अनॏपॊत ͘͘:͛͘ ऻॖ.योद उनकॎ उএ कॊ यख़ग ͞͝ ऻॖ तख़ आोदĀ और
कॖरख़ल कॕ बॎच कॎ उএ कॊ अॠतर बतॊएॠ ?

3 years / ͚ ऺॊल 

1 year / ͘ ऺॊल                   

2 years / ͙ ऺॊल

4 years / ͛ ऺॊल                     

Correct Answer :­2 years / ͙ ऺॊल 

7)



Question Stimulus :­

Maths

If y = logelogex, find the value of dy/dx when x = e. / अगर y = logelogex,तख़ जब x = e ऻख़गॊ तख़  dy /dx
कॊ मॊन ोनकॊल७| 

1 / ͘

e

1/e  / ͘/e

0

Correct Answer :­1/e  / ͘/e 

8)

Question Stimulus :­

Maths

What is the value of sin6A + 3sin2Acos2A + cos6A? / sin6A + 3sin2Acos2A + cos6A कॊ मॊन ोनकॊल७?

2 / ͙

­1 / ­͘

½  /  ͘/͙

1 / ͘

Correct Answer :­1 / ͘ 



9)

Question Stimulus :­

Maths

An urn contains 3 black, 4 green and 2 red colored balls of identical shape and size. A ball is drawn
at random from the urn and a ball is again drawn at random without replacing the previous ball
from the urn. What is the probability that both balls are red in color? / एक कलष म७ ऺमॊन आकॊर और मॊप
कॕ ͚ कॊलॕ,͛ ऻरॕ और ͙ लॊल रॠग कॕ बॗल रखॕ ऻ॰|एक बॗल कलष ऺॕ अोनयोमत ोबॠदॏ पर रॕखॊॠोकत कॎ जॊतॎ ऻॖ और एक बॗल ोफर कलष
ऺॕ पऻलॕ कॕ ग७द कख़ जगऻ ऺॕ ऻटॊए ोबनॊ ऻॎ अोनयोमत ोबॠदॏ पर रॕखॊॠोकत कॎ जॊतॎ ऻॖ।ोकतनॎ ऺĀॊशनॊ ऻॖ ोक दख़नख़ ॠ बॗल कॊ रॠग लॊल ऻॎ
ऻॖ?

1/36  /  ͘/͚͝

1/72  /  ͘/͙͞

1/64  /  ͘/͛͝

1/81  /   ͘/͘͟

Correct Answer :­1/36  /  ͘/͚͝ 

10)

Question Stimulus :­

Maths

A cubic equation x3 – 3x2 + 5x – 17 = 0 has three roots A, B and C. What is the value of A + B + C?
/ एक घनॎय ऺमॎकरण x͚ – ͚x͙ + ͜x – ͘͞ = ͗  कॕ तॎन मॐल ए,बॎ और ऺॎ ऻ॰|तख़ ए+बॎ+ऺॎ कॊ मॊन ोनकॊल७?

1 / ͘



17 / ͘͞

3 / ͚

5 / ͜

Correct Answer :­3 / ͚ 

11)

Question Stimulus :­

Maths

The angles of a quadrilateral PQRS are in the ratio 1 : 4 : 4 : 1. What is the difference between the
highest and the lowest value angle? / एक चतभॏ१ज पॎভॐआरएऺ(pqrs) कॕ कख़णख़ ॠ कॊ अनॏपॊत ͘:͛:͛:͘ ऻॖ|तख़ अोधतम
कख़ण और ကॐनतम कख़ण कॕ मॊपख़ ॠ कॕ बॎच कॊ अॠतर ोनकॊल७?

36o / ͚͗͝

108o / ͗͗͘͟

72o / ͙͗͞

144o / ͛͛͗͘

Correct Answer :­108o / ͗͗͘͟ 

12)

Question Stimulus :­

Maths



A number is first decreased by 20% and then increased by 25%. What is the net change in the
number? / एक  ॠऺূॊ कख़ पऻलॕ ͙͗%ऺॕ घटॊयॊ जॊतॊ ऻॖ और ोफर ͙͜%ऺॕ बढॊयॊ जॊतॊ ऻ॰| ॠऺূॊ म७ ोनोĀत पौरशत१न ভॊ ऻॖ?

+ 5 %  / +͜%

– 5 % / ­͜%

0 %

2.5 % / ͙.͜%

Correct Answer :­0 % 

13)

Question Stimulus :­

Maths

If |a| = 10, |b| = 2 and a.b = 12, what is the value of |a x b|2? /  अगर |ए| =͗͘, |बॎ| = ͙ and ए.बॎ =
͙͘,तख़ |ए x बॎ|͙  कॊ मॊन ोनकॊल७?

16 / ͘͝

256 / ͙͜͝

4 / ͛

28 / ͙͟

Correct Answer :­256 / ͙͜͝ 

14)



Question Stimulus :­

Maths

The average age of Harshil and Harshita who were married 10 years ago was 24yrs. The average
age of the family including Harshil the husband, Harshita the wife and the Hitesh the child who was
born during the interval is 25yrs. What is the present age of Hitesh? / ऻोह१ल और ऻोह१तॊ ोजनकॎ षॊदॎ ͗͘
ऺॊल पऻलॕ ͙͛ ऺॊल कॎ औऺतम उএ म७ ॽई थॎ| पौरशॊर कॎ औऺत उএ ऺोऻत ऻोह१ल पोत, पĀॎ ऻोह१तॊ और उनकॊ बৡॊ ोऻतॕष ोजऺकॊ
जĀ 25 ऺॊल कॕ अॠतरॊल कॕ दग़रॊन ॽआ थॊ| ोऻतॕष कॎ शत१मॊन आयॏ ভॊ ऻॖ?

5 years / ͜ ऺॊल

6 years / ͝ ऺॊल

7 years / ͞ ऺॊल

4 years / ͛ ऺॊल

Correct Answer :­7 years / ͞ ऺॊल 

Topic:­ G3_General Reasoning
1)

Question Stimulus :­

Reasoning

Observe the figure below. Which side will lie opposite to the side of one dot when the paper is
folded to form a cube? / नॎचॕ ोदए गए ोचআ कख़ दॕख७। जब इऺ कॊगज कख़ मख़ीकर इऺकॊ एक घन बनॊयॊ जॊए तख़ ोनĀ म७ ऺॕ कग़न
ऺॊ पॊĀ१ एक ोबॠदॏ कॕ पॊĀ१ कॕ ोशपरॎत ोदषॊ म७ पीॕगॊ?



4 / ͛

2 / ͙

3 / ͚

5 / ͜

Correct Answer :­4 / ͛ 

2)

Question Stimulus :­

Reasoning

Find out what will come later in the given alphabet series. / दॎ गयॎ शण१मॊलॊ कॎ ঒॑ॠखलॊ म७ कग़न ऺॊ बॊद म७
आएगॊ?

A, Z, B, Y, C, X, D, W

G, U

J, Q



E, V

L, R

Correct Answer :­E, V 

3)

Question Stimulus :­

Reasoning

The numbers are changing in a specific order in the given series. / दॎ गयॎ ঒॑ॠखलॊ म७  ॠऺূॊय७ एक ोशोषĀ ॿम म७
पौरशोत१त ऻख़ रऻॎ ऻ॰|

11, 12, 14, 17, 21, 26 / ͘͘, ͙͘, ͛͘, ͘͞, ͙͘, ͙͝

What will come next in the series? / इऺ ঒॑ॠखलॊ म७ अगलॊ अॠक ভॊ ऻख़गॊ?

32 / ͚͙

35 / ͚͜

30 / ͚͗

38 / ͚͟

Correct Answer :­32 / ͚͙ 

4)

Question Stimulus :­

Reasoning



In a certain language TOUGH is written as TMUEH. How will HISTORY be written in that language?
/ एक भॊहॊ म७ TOUGH कख़ TMUEH ोलखॊ जॊतॊ ऻॖ। उऺ भॊहॊ म७ HISTORY कख़ ोकऺ ঋकॊर ऺॕ ोलखॊ जॊयॕगॊ?

HHSSOQY

HJSUOSY

HGSROPY

GIRTNRX

Correct Answer :­HGSROPY 

5)

Question Stimulus :­

Reasoning

Following are the statements numbered 1 and 2 which are followed by a set of conclusions labelled
I and II. Which of these conclusions are most obvious in relation to the statements given below. /
ोनĀोल्खत कथनख़ ॠ कख़ ͘ और ͙  ॠऺূॊओॠ ऺॕ ोच्Āत ोकयॊ गयॊ ऻॖ और इनऺॕ ऺĀॠोधत I और II ोच्Āत ोकयॕ गए उप ॠऺऻॊरख़ ॠ कॕ ऺमॏৡय
ोदए गए ऻॖ? ोदए गए कथनख़ ॠ कॕ  ॠऺदभ१ म७ कग़न ऺॕ उप ॠऺऻॊर ऺबऺॕ उपयॏঢ ऻ॰?

Statements: / कथन:

1. No horse is donkey. / कख़ई भॎ घख़ीॊ गधॊ नऻॎ ॠ ऻॖ।
2. No donkey is human being. / कख़ई भॎ गधॊ मनॏĀ नऻॎ ॠ ऻॖ।

Conclusions: / उप ॠऺऻॊर

I. No horse is a human being. / कख़ई भॎ घख़ीॊ मनॏĀ नऻॎ ॠ ऻॖ।

No human being is a donkey. / कख़ई भॎ मनॏĀ गधॊ नऻॎ ॠ ऻॖ।

Only I / कॕशल I



Only II / कॕशल II

Both I and II / दख़नख़ ॠ I और II

Neither I nor II / न I तख़ न II ऻॎ

Correct Answer :­Neither I nor II / न I तख़ न II ऻॎ 

6)

Question Stimulus :­

Reasoning

Four friends Suresh, Mahesh, Jayesh and Lokesh went to get a group photograph clicked. Mahesh
was sitting left of Lokesh and Suresh was sitting on his right whereas; Jayesh was sitting between
Mahesh and Lokesh. Who would be second from the right in the photograph? / चॊर दख़Ā  ॏऺरॕष, मऻॕष,
जयॕष और लख़कॕष एक ऺॊमॐोऻक फख़टख़ঁॊफ ्खॠचशॊनॕ ऺॊथ म७ गए। मऻॕष, लख़कॕष कॕ बॊएँ बॖठॊ थॊ और  ॏऺरॕष उऺकॕ दॊयॎ ॠ ओर बॖठॊ थॊ
जबोक; जयॕष, मऻॕष और लख़कॕष कॕ बॎच म७ बॖठॊ थॊ। तख़ फख़टख़ঁॊफ म७ दॊयॎ ॠ ओर ऺॕ दॐ ऺरॕ Āथॊन पर कग़न ऻख़गॊ?

Mahesh / मऻॕष

Lokesh / लख़कॕष

Suresh /  ॏऺरॕष

Jayesh / जयॕष

Correct Answer :­Jayesh / जयॕष 

7)

Question Stimulus :­

Reasoning



Reasoning

If / योद,

1. A~B means A is sister of B / A~B कॊ अथ१ ऻॖ ोक A, B कॎ बऻन ऻॖ
2. A^B means A is brother of B / A^B कॊ अथ१ ऻॖ ोक A, B कॊ भॊई ऻॖ
3. A*B means A is son of B / A*B कॊ अथ१ ऻॖ ोक A, B कॊ पॏআ ऻॖ

How does R related to Q in Q*P~R? / तख़ Q*P~R म७ R, Q ऺॕ ोकऺ ঋकॊर ऺĀॠोधत ऻॖ?

Brother / भॊई

Sister / बऻन

Aunt / चॊचॎ

Grandfather / दॊदॊ

Correct Answer :­Aunt / चॊचॎ 

8)

Question Stimulus :­

Reasoning

A man facing East starts walking for 4 km in the same direction then turns to his right and walks
for another 4 km and again turns to his right and walks for 4 km and then stops at a flower shop. In
which direction is the shop from his originating point? / एक က्ঢ जख़ ोक पॐश१ कॎ ओर मॏख ोकयॕ ॽए ऻॖ उऺॎ ोदषॊ
म७ ͛ ोकमॎ चलनॊ ঋॊरॠभ करतॊ ऻॖ ोफर दॊयॎ ॠ ओर मॏी कर ͛ ोकमॎ चलतॊ ऻॖ और ोफर अपनॕ दॊयॎ ॠ ओर मॏी कर ͛ ोकमॎ चलतॊ ऻॖ और
ोफर फॐ लख़ ॠ कॎ एक दॐ कॊन पर ॹक जॊतॊ ऻॖ। यऻ दॐ कॊन उऺकॕ ঋॊरॠभ ोबॠदॏ ऺॕ ोकऺ ोदषॊ म७ ्Āथत ऻॖ?

North / उĀर

South / दो঴ण

East / पॐश१



East / पॐश१

West / पोĀम

Correct Answer :­South / दो঴ण 

9)

Question Stimulus :­

Reasoning

In the given series, find out how many prime numbers are there which are followed by even
numbers divisible by 3 and are preceded by odd numbers. / दॎ गयॎ ঒॑ॠखलॊ म७ ोशहम  ॠऺূॊओॠ कॕ बॊद आनॕ शॊलॎ
और ͚ ऺॕ ोशभॊोजत ऻख़नॕ शॊलॎ ऺम  ॠऺূॊओॠ कॕ पऻलॕ आनॕ शॊलॎ ोकतनॎ अभॊĀ  ॠऺূॊय७ ऻ॰?

1, 3, 6, 4, 9, 7, 18, 11, 24, 15, 13, 30 / ͘, ͚, ͝, ͛, ͠, ͞, ͘͟, ͘͘, ͙͛, ͘͜, ͚͘, ͚͗

3 / ͚

4 / ͛

2 / ͙

5 / ͜

Correct Answer :­3 / ͚ 

10)

Question Stimulus :­

Reasoning

What is the angle between the hour and minute hands of a clock when the clock strikes 3 o’clock? /

जब घीॎ ͚ बजॊतॎ ऻॖ तख़ इऺकॕ घॠटॕ और ोमनट  ॠऺकॕतकख़ ॠ कॕ बॎच कॊ कख़ण ভॊ ऻख़तॊ ऻॖ?



जब घीॎ ͚ बजॊतॎ ऻॖ तख़ इऺकॕ घॠटॕ और ोमनट  ॠऺकॕतकख़ ॠ कॕ बॎच कॊ कख़ण ভॊ ऻख़तॊ ऻॖ?

90 degrees / ͗͠ ोडঁॎ

180 degrees / ͗͘͟ ोडঁॎ

320 degrees / ͚͙͗ ोडঁॎ

270 degrees / ͙͗͞ ोडঁॎ

Correct Answer :­90 degrees / ͗͠ ोडঁॎ 

11)

Question Stimulus :­

Reasoning

Mother of Neha is the only daughter of Sunil’s father­in­law. How is Sunil related to Neha? / नॕऻॊ कॎ
मॊँ  ॏऺनॎल कॕ ऺ ॏऺर कॎ इकलग़तॎ पॏআॎ ऻॖ|  ॏऺनॎल नॕऻॊ ऺॕ ोकऺ ঋकॊर ऺĀॠोधत ऻॖ?

Uncle / चॊचॊ

Brother / भॊई

Grandfather / दॊदॊ

Father / ोपतॊ

Correct Answer :­Father / ोपतॊ 

12)

Question Stimulus :­



Reasoning

In a certain language / एक भॊहॊ म७:

1. ‘kee nup lin’ stands for ‘many beautiful girls’ / ‘kee nup lin’ कॊ अथ१ ऻॖ ‘many beautiful girls’
2. ‘kee gir roe’ stands for ‘few good girls’ / ‘kee gir roe’ कॊ अथ१ ऻॖ ‘few good girls’
3. ‘gir nup baw’ stands for ‘few beautiful rose’ / ‘gir nup baw’ कॊ अथ१ ऻॖ ‘few beautiful rose’

What does ‘Rose’ stand for? / तख़ ‘Rose’ कॊ अथ१ ভॊ ऻॖ?

Kee

baw

gir

roe

Correct Answer :­baw 

13)

Question Stimulus :­

Reasoning

How many degrees does the minute hand of a clock move in 1 hour? / घीॎ कॕ ोमनट कॊ  ॠऺकॕतक ͘ घॠटॕ म॰
ोकतनॕ ोडঁॎ घॐम जॊतॊ ऻॖ?

720 degrees / ͙͗͞ ोडঁॎ

360 degrees / ͚͗͝ ोडঁॎ

270 degrees / ͙͗͞ ोडঁॎ



180 degrees / ͗͘͟ ोडঁॎ

Correct Answer :­360 degrees / ͚͗͝ ोडঁॎ 

14)

Question Stimulus :­

Reasoning

One evening Jaya and Kusum were talking while standing facing each other. Jaya’s shadow was
falling on Kusum’s left side. Which direction is Jaya facing? / एक षॊम जयॊ और कॏ ॏऺम एक दॐ ऺरॕ कॎ ओर मॏख
करकॕ खीॕ ऻख़कर बॊत७ कर रऻॎ थॎ। जयॊ कॎ परछॊई कॏ ॏऺम कॎ बॊएँ ओर पी रऻॎ थॎ। जयॊ ोकऺ ोदषॊ कॎ ओर मॏख ोकयॕ ॽए खीॎ थॎ?

East / पॐश१

West / पोĀम

North / उĀर

South / दो঴ण

Correct Answer :­North / उĀर 

Topic:­ G3_General Science
1)

Question Stimulus :­

General Science

Combustion of a candle is a / दॎपक (क॰ डल) कॊ दऻन (जलनॊ) ऻॖ एक

Photochemical reaction / ঋकॊष­रॊऺॊयोनक ঋोतोॿयॊ



Endothermic reaction / ऊĀॊषख़हॎ ঋोतोॿयॊ

Exothermic reaction / ऊĀॊ঴ॕपॎ ঋोतोॿयॊ

Natural reaction / ঋॊक॑ोतक ঋोतोॿयॊ

Correct Answer :­Exothermic reaction / ऊĀॊ঴ॕपॎ ঋोतोॿयॊ 

2)

Question Stimulus :­

General Science

The Rate of Chemical Reaction Is Independent of: / रॊऺॊयोनक ঋोतोॿयॊ कॊ दर इऺऺॕ Āतॠআ ऻॖ:

Concentration / ऺॊॠঈतॊ

Catalyst / उĀॕरक

Temperature / तॊपमॊन

Pressure / दॊब

Correct Answer :­Pressure / दॊब 

3)

Question Stimulus :­

General Science

Prism is generally made from: / ॿकच आयत (ोঋĀम) ऺॊधॊरणत: इऺऺॕ ोनोम१त ऻख़तॊ ऻॖ:

Flint Glass / चकमक (्Āॠट) कॊँच
Tectonic Glass / टॕঠॗोनक कॊँच



Tectonic Glass / टॕঠॗोनक कॊँच

Wood Glass / कॊĀ कॊँच 

Soft Glass / नमनॎय (नम१) कॊँच

Correct Answer :­Flint Glass / चकमक (्Āॠट) कॊँच 

4)

Question Stimulus :­

General Science

Aluminium is generally used in Exothermic Welding be cause: / ऊĀॊ঴ॕपॎ झलॊई (शॕ्Āॠग) म७ ऺॊधॊरणत:
एĀॏमॎोनयम कॊ उपयख़ग ऻख़तॊ ऻॖ ভख़ॠोक:

Aluminium is a light metal / एĀॏमॎोनयम एक ऻĀॊ धॊतॏ ऻॖ

Aluminium has more affinity for oxygen / एĀॏमॎोनयम म७ ऑসॎजन कॕ ोलए अोधक आकह१ण ऻॖ

Aluminium is a strong oxidising agent / एĀॏमॎोनयम एक ष्ঢषॊलॎ जॊरक (ऑসॎकॊरक) ऻॖ

Aluminium is a reactive metal / एĀॏमॎोनयम एक ঋोतोॿयॊषॎल धॊतॏ ऻॖ

Correct Answer :­Aluminium has more affinity for oxygen / एĀॏमॎोनयम म७ ऑসॎजन कॕ ोलए अोधक आकह१ण ऻॖ 

5)

Question Stimulus :­

General Science

Gastric glands are present in the wall of: / जठरॎय (आमॊषोयक)  ॠঁोथयॊॠ इऺकॕ ोभोĀ म७ अश्Āथत ऻख़तॎ ऻ॰:



Oesophagus / ঁॊऺनलॎ

Stomach / उदर

Small Intestine / ঴ॏঈ आॠআ

Large Intestine. / ब॑ऻत् आॠআ

Correct Answer :­Stomach / उदर 

6)

Question Stimulus :­

General Science

Which of the following elements is NOT present in Stainless Steel? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ तက जॠगरख़धॎ
इĀॊत (Āॕनलॕऺ Āॎल) म७ उप्Āथत नऻॎ ॠ ऻॖ?

Tungsten / चĀॊतॏ (टॠगĀन)

Iron / लग़ऻ

Chromium / शणॊ१तॏ (ॿख़ोमयम)

Nickel / ोगलट (ोनकल) 

Correct Answer :­Tungsten / चĀॊतॏ (टॠगĀन) 

7)

Question Stimulus :­

General Science

Water is neither acidic nor alkaline because: / जल नॊ तख़ अĀॎय ऻॖ और नॊ ऻॎ ঴ॊरॎय ভख़ॠोक: 



Water is neither acidic nor alkaline because: / जल नॊ तख़ अĀॎय ऻॖ और नॊ ऻॎ ঴ॊरॎय ভख़ॠोक: 

It doesn’t receive or give protons / यऻ ঋॊणॏ (ঋख़टॗन) ঋॊĀ यॊ दॊन नऻॎ ॠ करतॊ ऻॖ

 It’s got a high boiling point / इऺकॊ রथनॊॠक उৡ ऻॖ

It can dissociate into equal number of hydrogen ions / यऻ ऺमॊन  ॠऺূक ऻॊइड३ ख़जन आयनख़ॠ म७
अऺĀĀ (ोशघोटत) ऻख़ ऺकतॊ ऻॖ

It doesn’t receive or accept electrons / यऻ ोशद्यॏ दणॏ (इलॕঠ३ ॗन) ঋॊĀ यॊ दॊन नऻॎ ॠ करतॊ ऻॖ

Correct Answer :­It can dissociate into equal number of hydrogen ions / यऻ ऺमॊन  ॠऺূक ऻॊइड३ ख़जन आयनख़ॠ
म७ अऺĀĀ (ोशघोटत) ऻख़ ऺकतॊ ऻॖ 

8)

Question Stimulus :­

General Science

In which of the following medical procedure, a small portion of the oviduct is removed? / ोनĀोल्खत
म७ ऺॕ कग़न ऺॕ ोचोकĀकॎय ঋोॿयॊ म७, ोडĀशॊोऻनॎ (ोडĀ­नोलकॊ) कॊ एक ঴ॏঈ अॠष प॑थक कर ोदयॊ जॊतॊ ऻॖ? 

Intra­Uterine Contraceptive Device Placement / आॠत:­गभॊ१षोयक गभ१ोनरख़धक यॠআ Āथॊपन

Tubectomy / ोडĀशॊोऻकख़ৢॕदन (मोऻलॊ नऺबॠदॎ)

Vasectomy / षॏॿशॊोऻकख़ৢॕदन (पॏॹह नऺबॠदॎ)

Barrier Method / अशरख़ध ঋोॿयॊ 

Correct Answer :­Tubectomy / ोडĀशॊोऻकख़ৢॕदन (मोऻलॊ नऺबॠदॎ) 

9)



Question Stimulus :­

General Science

Light year is a unit of measurement of: / ঋकॊष शह१ इकॊई ऻॖ यऻ मॊपनॕ कॊ:

Speed of Light / ঋकॊष कॎ गोत

Stellar Distances / न঴আॎय दॐ ौरयॊँ

Rocket Speed / रॗकॕट कॎ गोत

Wind Speed / शॊयॏ कॎ गोत

Correct Answer :­Stellar Distances / न঴আॎय दॐ ौरयॊँ 

10)

Question Stimulus :­

General Science

The Indian Institute of Science at Bangalore was found by: / ब॰गलख़र ्Āथत भॊरतॎय ोशĀॊन  ॠऺĀथॊन इन कॕ ကॊरॊ
Āथॊोपत कॎ गई थॎ:

Mr. C. V. Raman / ঒ॎ ऺॎ. Āॎ. रमन

Netaji Subhash Chandra Bose  / नॕतॊजॎ  ॏऺभॊह चက बख़ऺ

Mr. N. R. Narayana Murthy / ঒ॎ एन. आर. नॊरॊयण मॐोत१

Mr. Jamsetji Tata / ঒ॎ जमषॕतजॎ टॊटॊ

Correct Answer :­Mr. Jamsetji Tata / ঒ॎ जमषॕतजॎ टॊटॊ 



11)

Question Stimulus :­

General Science

A Dynamo converts: / एक ोशद्यॏ त उĀॊदक (डॊयनॊमख़) ॺपॊॠतौरत करतॊ ऻॖ:

Mechanical energy into Sound energy / यॊॠोআक ऊजॊ१ कख़ Āोन ऊजॊ१ म७

Mechanical energy into Electrical energy / यॊॠोআक ऊजॊ१ कख़ शॖद्यॏ ोतक ऊजॊ१ म७

Electrical energy into Mechanical energy / शॖद्यॏ ोतक ऊजॊ१ कख़ यॊॠोআक ऊजॊ१ म७ यॊॠोআक ऊजॊ१ कख़
शॖद्यॏ ोतक ऊजॊ१ म७

Electrical energy into Sound energy / शॖद्यॏ ोतक ऊजॊ१ कख़ Āोन ऊजॊ१ म७

Correct Answer :­Mechanical energy into Electrical energy / यॊॠोআक ऊजॊ१ कख़ शॖद्यॏ ोतक ऊजॊ१ म७ 

12)

Question Stimulus :­

General Science

The Unit of Intensity of Sound is known as: / Āोन कॎ तॎ঑तॊ कॊ इकॊई कऻलॊतॊ ऻॖ:

Kelvin / कॕ्Āन

Voltage / शख़Āॕज

Decibel / डॕोऺशॕल



Mu / Āॐ

Correct Answer :­Decibel / डॕोऺशॕल 

13)

Question Stimulus :­

General Science

Epoxy Resins are most commonly used for making: / इपख़সॎ रॊल (रॕोऺन) कॊ ऺशॊ१ोधक उपयख़ग ऺॊमॊကतॡ यऻ
बनॊनॕ कॕ ोलए ऻख़तॊ ऻॖ:

Moth Repellants / पतॠगॊ (षलभ) ोशकह१क (ঋोतरख़धक)

Insecticides / कॎटनॊषक

Detergents / ঋ঴ॊलक (षख़धनॎ)

Adhesives / आ ॠऺजक (गख़ ॠद)

Correct Answer :­Adhesives / आ ॠऺजक (गख़ ॠद) 

14)

Question Stimulus :­

General Science

In the game of cricket, the old cricket ball due to the concept of aerodynamics: / ोॿकॕट कॕ खॕल म७,
शॊयॏगोतकॎ कॕ ोऺĀॊॠत कॕ कॊरण पॏरॊतन (पॏरॊनॊ) ोॿकॕट ग७द:

Starts swinging intermittently / अ ॠऺतत (अोनरॠतर) दख़लन (ोशचलन) ঋॊरॠभ करतॊ ऻॖ

Starts swinging away from its shiny side / उऺकॕ चमकदॊर ऺतऻ ऺॕ ोशपरॎत (दॐ र) दख़लन (ोशचलन)
ঋॊरॠभ करतॊ ऻॖ 



ঋॊरॠभ करतॊ ऻॖ 

Starts swinging towards its shiny side / उऺकॕ चमकदॊर ऺतऻ कॎ ओर दख़लन (ोशचलन) ঋॊरॠभ
करतॊ ऻॖ

Starts swinging alongside its seam thread /उऺकॕ  ॠऺोध (ोऺलॊई) कॕ अनॏपॊĀ१ दख़लन ঋॊरॠभ करतॊ ऻॖ

Correct Answer :­Starts swinging towards its shiny side / उऺकॕ चमकदॊर ऺतऻ कॎ ओर दख़लन (ोशचलन) ঋॊरॠभ
करतॊ ऻॖ 

Topic:­ G3_General Computer Knowledge
1)

Question Stimulus :­

Computer

Which language is more suitable for structured program? /  ॠऺरोचत ॿमॊदॕष कॕ ोलए कग़न ऺॎ भॊहॊ अोधक
उपयॏঢ ऻॖ?

C Language / ऺॎ भॊहॊ

Basic  / बॕोऺक

Cloud computing / मॕघ  ॠऺगणन (মॊउड कॠ Āॐोटॠग)

Pascal / पॊĀल

Correct Answer :­C Language / ऺॎ भॊहॊ 

2)

Question Stimulus :­



Computer

Word processing and spreadsheets are the examples of which of the following software? / षĀ ঋोॿयॊ
(शड१ ঋख़ऺॕो ॠऺग) एशॠ ोशĀॊर­प॑Ā (Āॕडषॎट) ोनĀोल्खत म७ ऺॕ कग़न ऺॕ तĀॊॠष कॕ उदऻॊरण ऻ॰?

System software / पौरतॠআ तĀॊॠष

Embedded software / अĀोन१ोऻत तĀॊॠष

Application software / अनॏঋयख़ग तĀॊॠष

Operating system / ঋचॊलन तॠআ

Correct Answer :­Application software / अनॏঋयख़ग तĀॊॠष 

3)

Question Stimulus :­

Computer

Which of the following network is a packet switching network? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ तॠআजॊल एक पॏोलॠदॊ
पौरशत१न (्Āोचॠग) तॠআजॊल ऻॖ?

Frame Relay /  ॠऺरचनॊ ঋऺॊरण (ঌॕम ौरलॕ)

Ring network / शलय तॠআजॊल (ौरॠग नॕटशक१ )

Both of the above / उपरख़ঢ ऺभॎ

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Frame Relay /  ॠऺरचनॊ ঋऺॊरण (ঌॕम ौरलॕ) 



4)

Question Stimulus :­

Computer

A single packet in a data link layer is known as a: / तĀ ঒॑ॠखलॊ Āर (डॕटॊ ोलॠक लॕयर) म७ एक एकल पॏोलॠदॊ कऻलॊतॊ
ऻॖ:

Bit / ोबट

Nibble / ोनबल

Frame / ঌॕम

Packets / पॏोलॠदॕ

Correct Answer :­Frame / ঌॕम 

5)

Question Stimulus :­

Computer

What is the full form of SSI? / एऺएऺआई कॊ ोशĀ॑त ॺप ভॊ ऻॖ?

Small scale integration / लघॏ Āरॎय एकॎकरण (Āॗल Āॕल इॠटॎঁॕषन)

Small scale interrogation  / लघॏ Āरॎय पौरঋĀ (Āॗल Āॕल इॠटररख़गॕषन)

Small scale interpreter / लघॏ Āरॎय अनॏशॊदक (Āॗल Āॕल इॠटरঋॕटर)

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ



Correct Answer :­Small scale integration / लघॏ Āरॎय एकॎकरण (Āॗल Āॕल इॠटॎঁॕषन) 

6)

Question Stimulus :­

Computer

A program that converts assembly language into machine language is known as: / एक ॿमॊदॕष जख़
ॠऺयख़जक (कख़डॊॠतरक) भॊहॊ कख़ यॊॠोআक भॊहॊ म७ ॺपॊॠतौरत करॕ शऻ कऻलॊतॊ ऻॖ:

 

reader / पॊठक (रॎडर)

translator / अनॏशॊदक (ट३ ॊॠऺलॕटर)

compiler /  ॠऺकलक (कĀॊइलर)

assembler /  ॠऺयख़जक (अऺॕĀलर)

Correct Answer :­assembler /  ॠऺयख़जक (अऺॕĀलर) 

7)

Question Stimulus :­

Computer

A computer program is defined as a: / एक  ॠऺगणक ॿमॊदॕष कख़ ऐऺॕ पौरभॊोहत ोकयॊ जॊतॊ ऻॖ:

list of coded instructions / कॐ टबĀ ोनद८ष तॊोलकॊ

list of information /  ॐऺचनॊ तॊोलकॊ



list of binary information / ोကचर  ॐऺचनॊ तॊोलकॊ

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­list of coded instructions / कॐ टबĀ ोनद८ष तॊोलकॊ 

8)

Question Stimulus :­

Computer

A remote computer is connected by which of the following methods? / ोनĀोल्खत म७ ऺॕ कग़न ऺॕ ोशोध ऺॕ एक
दॐ रशत५  ॠऺगणक  ॠऺयॏঢ ऻख़तॊ ऻॖ?

Mnemonics / Āॊरक यॊ Ā॑ोत ऺऻॊयक (नॕमख़ोनक)

Assembler /  ॠऺयख़जक

Dial up / डॊयल अप

Digital computer / अॠकॎय  ॠऺगणक

Correct Answer :­Dial up / डॊयल अप 

9)

Question Stimulus :­

Computer

ASCII code is: / एएऺऺॎआईआई (ASCII ) कॐ ट ऻॖ:

American security code intelligence information  / अमॕौरकॎ  ॏऺर঴ॊ कॐ ट मॕधॊ  ॐऺचनॊ (अमॕौरकन

ोऺভख़ौरटॎ कख़ड इॠटॕोलज७ऺ इनफॊम८षन)



ोऺভख़ौरटॎ कख़ड इॠटॕोलज७ऺ इनफॊम८षन)

American standard code for information interchange /  ॐऺचनॊ आदॊन­ঋदॊन ऻॕतॏ अमॕौरकॎ मॊनक
कॐ ट (अमॕौरकन ĀॖĀड१ कख़ड फॗर इनफॊम८षन इॠटरच७ज)

American scientist code for intelligence interchange / मॕधॊ आदॊन­ঋदॊन ऻॕतॏ अमॕौरकॎ शॖĀॊोनक
कॐ ट (अमॕौरकन ऺॊइॠोटĀ कख़ड फॗर इॠटॕोलज७ऺ इॠटरच७ज)

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­American standard code for information interchange /  ॐऺचनॊ आदॊन­ঋदॊन ऻॕतॏ अमॕौरकॎ
मॊनक कॐ ट (अमॕौरकन ĀॖĀड१ कख़ड फॗर इनफॊम८षन इॠटरच७ज) 

10)

Question Stimulus :­

Computer

One billion bytes equals to: / एक अरब बॊइट इऺकॕ ऺमॊन ऻॖ:

Kilo bytes / ोकलख़ बॊइट

Giga bytes / गॎगॊ बॊइट

Bytes / बॊइट

Bit / ोबट

Correct Answer :­Giga bytes / गॎगॊ बॊइट 

11)

Question Stimulus :­



Computer

What is known as the brain of the computer system? /  ॠऺगणक तॠআ कॊ म्ĀĀ ोकऺॕ कऻतॕ ऻॖ?

RAM / रॖम

ALU / एएलयॐ

Logical unit / तॊोक१ क इकॊई

CPU / ऺॎपॎयॐ

Correct Answer :­CPU / ऺॎपॎयॐ 

12)

Question Stimulus :­

Computer

Find 1’s complement of 10: / ͗͘ कॊ ͘ पॐरक Āॊत कॎोजयॕ:

00 / ͗͗

10 / ͗͘

11 / ͘͘

01 / ͗͘

Correct Answer :­01 / ͗͘ 

13)



Question Stimulus :­

Computer

The language which was developed by Dr. Seymour Aubrey Papert is: / डॗ. ऺॕमख़र ऑ঍ॕ पॊपट१ ကॊरॊ ोशकोऺत
भॊहॊ ऻॖ:

Cobol / कख़बख़ल

Logo / लख़गख़

Pascal / पॊĀल

C++ / ऺॎ++

Correct Answer :­Logo / लख़गख़ 

14)

Question Stimulus :­

Computer

Techniques which is used to convert analog signal into digital bit is known as: / अनॏॺप (ऺĀष)  ॠऺकॕतख़ ॠ
कख़ अॠकॎय ोबट म७ ॺपॊॠतौरत करनॕ ऻॕतॏ ကशॼत कग़षल (तकनॎक) कऻलॊतॊ ऻॖ:

Pulse code modulation / Āॠद कॐ ट अोधोम঒ण

Demodulator / ोशोम঒क

Wave code modulation / तरॠग कॐ ट अोधोम঒ण

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ



Correct Answer :­Pulse code modulation / Āॠद कॐ ट अोधोम঒ण 

Topic:­ G3_Mechanical
1)

Question Stimulus :­

Mechanical

Foƌ the ĐalĐulaĕoŶ of ƌeal teŵpeƌatuƌe iŶ theƌŵodǇŶaŵiĐs the ǀalue of aďsolute zeƌo teŵpeƌatuƌe is ĐoŶsideƌed as  / ऊĀॊঋशॖोगकॎ म७
शॊĀोशक तॊपमॊन कॕ गणनॊ कॕ ोलए, यथॊथ१ षॐက (एĀॗĀॐट िॎरख़) तॊपमॊन कॎ मॊन यऻ मॊनॊ जॊतॊ ऻॖ 

‐ϮϳϯoC / ‐͙͚͞o ऺॕ.

ϮϴϯoC / ͙͚͟o ऺॕ.

c

ϮϵϯoC / ͙͚͠o ऺॕ.

Correct Answer :­‐ϮϳϯoC / ‐͙͚͞o ऺॕ. 

2)

Question Stimulus :­

Mechanical

Tangent to a ___________ is normal to an involute in involute teeth gears.  / एक ______ पर Āष१Āॊ
एक जोटल (प७चदॊर) दĀ दॠतचॿ कॕ एक प७च पर अधख़लॠब ऻख़तॊ ऻॖ|

base circle / आधॊर श॑Ā

deddendum circle / ঋदॊयक (ोडडॕĀम) श॑Ā



crest circle / ोषखर श॑Ā

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­base circle / आधॊर श॑Ā 

3)

Question Stimulus :­

Mechanical

IŶ a pƌess opeƌaĕoŶ, the ƌeƋuiƌed ĐleaƌaŶĐe ďetǁeeŶ puŶĐh aŶd die to sheaƌ a steel plate of ϭŵŵ to Ϯŵŵ thiĐkŶess is / एक दॊबक
ঋकॊय१ म७, एक ͘ ोममॎ. ऺॕ ͙ ोममॎ. मख़टॊई कॕ इĀॊत पĀॎ कॕ कत१न ऻॕतॏ छॕदक एशॠ ऺॊँचॊ कॕ मĀ आशĀक अॠतर ऻॖ

Ϭ.Ϭϱ of thiĐkŶess / मख़टॊई कॊ ͗.͗͜

Ϭ.ϭϱ of thiĐkŶess / मख़टॊई कॊ ͗.͘͜

Ϭ.ϮϬ of thiĐkŶess / मख़टॊई कॊ ͗.͙͗

0.25 of thickness / मख़टॊई कॊ ͗.͙͜

Correct Answer :­Ϭ.Ϭϱ of thiĐkŶess / मख़टॊई कॊ ͗.͗͜ 

4)

Question Stimulus :­

Mechanical

Which of the following is used to produce seamless tubes? / ोनĀोल्खत म७ ऺॕ ोकऺॕ ऺॎशनरोऻत नोलकॊओॠ कॕ
उĀॊदन म७ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

Two high rolling mill / दख़ उৡ बॕलन  ॠऺयॠআ



Piercing / छॕदन

Ring rolling / शलय बॕलन

Forging / ढलॊई 

Correct Answer :­Piercing / छॕदन 

5)

Question Stimulus :­

Mechanical

The duĐĕlitǇ tƌaŶsiĕoŶ teŵpeƌatuƌe ĐaŶ ďe iŶĐƌeased ďǇ alloǇiŶg the ĐoŵďiŶaĕoŶ of ǁhiĐh ŵateƌials? / कग़न ऺॎ ऺॊमोঁयख़ ॠ कॕ
ऺमĀयन कॕ ोम঒ॊतॏ ोनमॊ१ण ऺॕ तကतॊ  ॠऺॿमण तॊपमॊन शोध१त ोकयॊ जॊ ऺकतॊ ऻॖ? 

MŶ aŶd OϮ / MŶ एशॠ OϮ

Fe aŶd MŶ / Fe एशॠ MŶ

C aŶd OϮ  / C एशॠ OϮ

Cu and Fe / Cu एशॠ Fe

Correct Answer :­C aŶd OϮ  / C एशॠ OϮ 

6)

Question Stimulus :­

Mechanical

Stoichiometric ratio for efficiently running of an engine is:  / ोकऺॎ इॠजन कॕ कॏ षलतॊपॐश१क कॊय१ करनॕ ऻॕतॏ

Āख़इोषओमॕोट३क अनॏपॊत ऻॖ:



Āख़इोषओमॕोट३क अनॏपॊत ऻॖ:

chemically correct air­fuel ratio by volume / रॊऺॊयोनक ॺप ऺॕ ऺठॎक आयतन­आधॊौरत शॊयॏ­
ईॠधन अनॏपॊत

actual air­fuel ratio / शॊĀोशक शॊयॏ­ईॠधन अनॏपॊत

chemically correct air­fuel ratio by weight / रॊऺॊयोनक ॺप ऺॕ ऺटॎक भॊर­आधॊौरत शॊयॏ­ईॠधन
अनॏपॊत

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­chemically correct air­fuel ratio by volume / रॊऺॊयोनक ॺप ऺॕ ऺठॎक आयतन­आधॊौरत शॊयॏ­
ईॠधन अनॏपॊत 

7)

Question Stimulus :­

Mechanical

Lathe beds are produced by which of the following production processes?  / ोनĀोल्खत म७ ऺॕ कग़न ऺॕ
उĀॊदन ঋोॿयॊ ऺॕ खरॊद (चॿयĀ) आधॊर (षॖĀॊ) ोनोम१त ऻख़तॕ ऻ॰?

Rolling / बॕलन (रख़ोलॠग)

Forging / गुॊई (फख़ोज४ग)

Drawing / कह१ण (ड३ ॗइॠग)

Casting / ढलॊई (कॊ्Āॠग)

Correct Answer :­Casting / ढलॊई (कॊ्Āॠग) 



8)

Question Stimulus :­

Mechanical

The ignition of fuel in a diesel engine is caused by:  / एक डॎजल इॠजन म७ ईॠधन कॊ दऻन इऺकॕ कॊरण ऻख़तॊ ऻॖ:

spark plug / Āॊक१  ကग

compressed fuel /  ॠऺपॎोीत ईॠधन

heat resulting from compressed air that is supplied for combustion /  ॠऺपॎोीत शॊयॏ ऺॕ
ोनग१त तॊप ोजऺकॊ दऻन ऻॕतॏ आपॐोत१ ोकयॊ जॊतॊ ऻॖ

air fuel mixture / शॊयॏ ईॠधन ोम঒ण

Correct Answer :­heat resulting from compressed air that is supplied for combustion /  ॠऺपॎोीत शॊयॏ ऺॕ
ोनग१त तॊप ोजऺकॊ दऻन ऻॕतॏ आपॐोत१ ोकयॊ जॊतॊ ऻॖ 

9)

Question Stimulus :­

Mechanical

A ƌeduŶdaŶt fƌaŵe is also kŶoǁŶ as __________ fƌaŵe. / एक ကोतौरঢ (अनॊशĀक)  ॠऺरचनॊ (चग़खट) _______ भॎ कऻलॊतॊ ऻॖ। 

aŶ effiĐieŶt / एक मॊআॊोतौरঢ 

a defiĐieŶt / एक अपॐण१ (अभॊशयॏঢ) 

an imperfect / एक আॏोटपॐण१



a peƌfeĐt / एक আॏोटऻॎन

Correct Answer :­an imperfect / एक আॏोटपॐण१ 

10)

Question Stimulus :­

Mechanical

The ƌelaĕoŶship of effiĐieŶĐǇ of CaƌŶot ĐǇĐle aŶd SĕƌliŶg ĐǇĐle is:  / कॊनॳ चॿ एशॠ Āोल४ग चॿ कॕ कॊय१कॏ षलतॊ कॊ  ॠऺबॠध ऻॖ: 

Not eƋual / एक ऺमॊन नऻॎ ॠ ऻ॰

TǁiĐe / दख़गॏणॊ

eƋual  / एक ऺमॊन

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­eƋual  / एक ऺमॊन 

11)

Question Stimulus :­

Mechanical

The application of control chart in industrial engineering is: / औĀख़ोगक अोभयॊॠोআकॎ म७ ोनयॠআण ऺॊरणॎ कॊ ঋयख़ग
ऻॖ:

to control inventory / शĀॏ ोनयॠআण करनॊ

to schedule production / उĀॊदन पॐश१ोनयख़ोजत करनॊ



for preventive maintenance / ঋोतकॊरक रखरखॊश ऻॕतॏ

for material handling / ऺॊमঁॎ ကशऻॊर ऻॕतॏ

Correct Answer :­to control inventory / शĀॏ ोनयॠআण करनॊ 

12)

Question Stimulus :­

Mechanical

The functioning of jet propulsion engine: / जॕट ঋणख़दन इॠजन कॎ ोॿयॊ:

does not depend upon presence of air / शॊयॏ कॕ उप्Āथोत पर ोनभ१र नऻॎ ॠ करतॊ

the propulsive matter is ejected / ঋणख़दक शĀॏ ोन঴ॕोपत ऻख़ जॊतॊ ऻॖ

the propulsive matter flows around the propelled body / ঋणख़दक शĀॏ ঋणख़ोदत ोपॠड कॕ ऺश१আ
ঋशॊोऻत ऻख़तॊ ऻॖ

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­the propulsive matter flows around the propelled body / ঋणख़दक शĀॏ ঋणख़ोदत ोपॠड कॕ
ऺश१আ ঋशॊोऻत ऻख़तॊ ऻॖ 

13)

Question Stimulus :­

Mechanical

The sand grains stick together by the ____________ property of molding sand. / ढलॊई बॊलॏकॊ कॎ
_________ ोशषॕहतॊ कॕ ကॊरॊ बॊलॏकॊ कण परĀर जॏीॕ रऻतॕ ऻ॰|



cohesiveness /  ॠऺऺ्ঢ

adhesiveness /  ॠऺयॏ्ঢ

refractoriness / अपशĀ१कतॊ

permeability / पॊरगĀतॊ

Correct Answer :­cohesiveness /  ॠऺऺ्ঢ 

14)

Question Stimulus :­

Mechanical

If the number of links in a mechanism is 8, the number of pairs would be:  / योद ोकऺॎ ोॿयॊोशोध म७ कोीयख़ ॠ
कॎ  ॠऺূॊ ͟ ऻॖ, तख़ यॏ৒ख़ ॠ कॊ  ॠऺূॊ ऻख़गॊ:

6 / ͝

8 / ͟

10 / ͗͘

4 / ͛

Correct Answer :­6 / ͝ 

15)

Question Stimulus :­

Mechanical



Which form of the iron is having existence between 910° C and 1403° C? / ͗͘͠ ऺॕ. एशॠ ͚͛͗͘ ऺॕ. कॕ मĀ
लग़ऻ कॕ ोकऺ ঋकॊर कॊ अ्Āက ऻख़तॊ ऻॖ?

Ǆ­iron / Ǆ­लग़ऻ

ǃ­iron / ǃ­लग़ऻ

δ­iron / δ­लग़ऻ

Correct Answer :­Ǆ­iron / Ǆ­लग़ऻ 

16)

Question Stimulus :­

Mechanical

WhiĐh of the folloǁiŶg aŵoŶg the giǀeŶ opĕoŶs is a siŶgle poiŶt ĐuħŶg tool? / ोनĀोल्खत ोशकĀख़ॠ म७ ऺॕ कग़न ऺॊ एक एकल ोबॠदॏ छॕदन
औजॊर ऻॖ?

MilliŶg Đuĥeƌ / पॕहण छॕदक

HaĐk saǁ ďlade / धॊतॏ छॕदक आरॎ

TuƌŶiŶg tool / छॎलन औजॊर

GƌiŶdiŶg ǁheel / घह१ण चॿ

Correct Answer :­TuƌŶiŶg tool / छॎलन औजॊर 

17)



Question Stimulus :­

Mechanical

The ĐoeffiĐieŶt of ǀisĐositǇ ŵaǇ ďe oďseƌǀed ďǇ: / Āॊनतॊ कॕ गॏणनॊॠक कॊ अशलख़कन इऺकॕ ကॊरॊ ोकयॊ जॊ ऺकतॊ ऻॖ: 

ĐapillaƌǇ tuďe ŵethod / कॕोषकॊ नोलकॊ ोशोध

oƌifiĐe tǇpe ǀisĐoŵeteƌ / रॠউ ঋकॊर Āॊनतॊमॊपक (ोशĀख़मॎटर) 

ƌotaĕŶg ĐǇliŶdeƌ ŵethod / घॏण१नषॎल बॕलन ोशोध 

all of these / उपरख़ঢ ऺभॎ

Correct Answer :­all of these / उपरख़ঢ ऺभॎ 

18)

Question Stimulus :­

Mechanical

100 percent volumetric efficiency could not be achieved in reciprocating compressor, because of: /
इऺकॕ कॊरण, ঋĀॊगॊमॎ  ॠऺपॎीक म७ ͗͗͘ ঋोतषत अनॏमॊपॎ (आयतनॎ) कॊय१঴मतॊ ঋॊĀ नऻॎ ॠ ऻख़ ऺकतॎ:

 

the compressor superheat /  ॠऺपॎीक अोततॊप

the pressure drop across the valves / कपॊटख़ ॠ (शॊĀ) ऺॕ ऻख़कर दॊब म७ কॊऺ

the leakage of the gas / गॖऺ कॊ ौरऺनॊ

all of the above / उपरख़ঢ ऺभॎ



Correct Answer :­all of the above / उपरख़ঢ ऺभॎ 

19)

Question Stimulus :­

Mechanical

From iron carbon diagram, which of the following steel contains 0.8 to 1.5% carbon? / लग़ऻ­ঋॊॠगॊर
(कॊब१न) रॕखॊोचআ ऺॕ, ोनĀोल्खत म७ ऺॕ ोकऺ इĀॊत म७ ͗.͟ ऺॕ ͘.͜% तक ঋॊॠगॊर (कॊब१न) रऻतॊ ऻॖ?

Low carbon steel / ोनĀ ঋॊॠगॊर इĀॊत

High carbon steel / उৡ ঋॊॠगॊर इĀॊत

Medium carbon steel / मĀम ঋॊॠगॊर इĀॊत

Mild steel / म॑दॏ इĀॊत

Correct Answer :­High carbon steel / उৡ ঋॊॠगॊर इĀॊत 

20)

Question Stimulus :­

Mechanical

The application of Hooke’s joint is to connect:  / ॽक'ऺ  ॠऺोध कॊ ঋयख़ग यऻ  ॠऺयॏঢ करनॕ ऻॕतॏ ऻख़तॊ ऻॖ:

two parallel shafts / दख़ ऺमॊĀरॊल धॏरॎ­दॠड

two intersecting shafts / दख़ परĀरৢॕदॎ धॏरॎ­दॠड

two non­parallel intersecting shafts / दख़ अऺमॊॠतरॊल परĀरৢॕदॎ धॏरॎ­दॠड

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ



none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­two non­parallel intersecting shafts / दख़ अऺमॊॠतरॊल परĀरৢॕदॎ धॏरॎ­दॠड 

21)

Question Stimulus :­

Mechanical

FlǇ ǁheel is NOT the paƌt of ǁhiĐh of the folloǁiŶg ŵaĐhiŶe? / ोनĀोल्खत म७ ऺॕ ोकऺ यĀ कॊ अॠग भॊर­चोॿकॊ (ĀॊईĀॎल) नऻॎ ॠ ऻॖ?

Steaŵ eŶgiŶe / शॊĀ इॠजन

Gas tuƌďiŶe / गॖऺ टरबॊइन

FlǇ pƌess / Āॊई ঋॕऺ

Lathe ŵaĐhiŶe / खरॊद (लॕद) यĀ

Correct Answer :­Lathe ŵaĐhiŶe / खरॊद (लॕद) यĀ 

22)

Question Stimulus :­

Mechanical

In Breakeven point: / ऻॊोनरोऻत ोबॠदॏ म७:

total cost is less than the sales revenue / कॏ ल लॊगत, ोशॿय आय ऺॕ ကॐन ऻख़तॊ ऻॖ

total cost is more than the sales revenue / कॏ ल लॊगत, ोशॿय आय ऺॕ अोधक ऻख़तॊ ऻॖ

total cost is equal to sales revenue / कॏ ल लॊगत, ोशॿय आय कॕ ऺमॊन ऻख़तॊ ऻॖ

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ



none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­total cost is equal to sales revenue / कॏ ल लॊगत, ोशॿय आय कॕ ऺमॊन ऻख़तॊ ऻॖ 

23)

Question Stimulus :­

Mechanical

Subcooling occurs when the vapour / उपषॎतलन ऻख़तॊ ऻॖ जब शॊĀ 

removes latent heat from the refrigerant / ঋषॎतक ऺॕ गॏĀ ऊĀॊ ोनĀॊोऺत करतॊ ऻॖ      

removes sensible heat from the Refrigerant / ঋषॎतक ऺॕ  ॠऺशॕदॎ ऊĀॊ ोनĀॊोऺत करतॊ ऻॖ

has high latent heat / उৡ गॏĀ ऊĀॊ धॊरण करतॊ ऻॖ

has low latent heat / ोनĀ गॏĀ ऊĀॊ धॊरण करतॊ ऻॖ

Correct Answer :­removes sensible heat from the Refrigerant / ঋषॎतक ऺॕ  ॠऺशॕदॎ ऊĀॊ ोनĀॊोऺत करतॊ ऻॖ 

24)

Question Stimulus :­

Mechanical

The expansion ratio in steam engines is the ratio of / शॊĀ इॠोजनख़ ॠ म७ ोशĀॊर अनॏपॊत इऺकॊ अनॏपॊत ऻख़तॊ ऻॖ 

clearance volume to swept volume / अĀष५ आयतन बटॊ ঋऺोप१त आयतन

swept volume to clearance volume  / ঋऺोप१त आयतन बटॊ अĀष५ आयतन 

cut off volume to swept volume / ोशৢॕदक आयतन बटॊ ঋऺोप१त आयतन
swept volume to cut off volume / ঋऺोप१त आयतन बटॊ ोशৢॕदक आयतन



swept volume to cut off volume / ঋऺोप१त आयतन बटॊ ोशৢॕदक आयतन

Correct Answer :­swept volume to cut off volume / ঋऺोप१त आयतन बटॊ ोशৢॕदक आयतन 

25)

Question Stimulus :­

Mechanical

Due to slip of the ďelt, ǁhiĐh tǇpe of ĐoŶdiĕoŶ oĐĐuƌs iŶ ǀeloĐitǇ ƌaĕo of the ďelt dƌiǀe? / पĀॕ कॕ ोफऺलन७ कॕ कॊरण, पĀॊ चॊलक कॕ शॕग
अनॏपॊत म७ ोकऺ ঋकॊर कॎ अशĀथॊ उĀĀ ऻख़तॎ ऻॖ?

it deĐƌeases / यऻ কॊऺ ऻख़तॊ ऻॖ

it is first equal and then it Increases / यऻ ঋथमत: ऺमॊन रऻतॊ ऻॖ एशॠ तĀĀॊत यऻ शोध१त ऻख़तॊ ऻॖ

it first decreases and then it increases / यऻ ঋथमत: কॊऺ ऻख़तॊ ऻॖ एशॠ तĀĀॊत यऻ शोध१त ऻख़तॊ ऻॖ

Ŷo effeĐt oŶ the ďelt dƌiǀe / पĀॊ चॊलक पर कख़ई ঋभॊश नऻॎ ॠ पीतॊ 

Correct Answer :­it deĐƌeases / यऻ কॊऺ ऻख़तॊ ऻॖ 

26)

Question Stimulus :­

Mechanical

In limit fits and tolerances for assembly 100H6/g8, H6 is the designation of: /  ॠऺयख़जन ͗͗͘H6 / g8 ऻॕतॏ
ऺॎमॊ उपयख़Āतॊ एशॠ ऺोऻĀॏतॊ म७, H6 इऺकॎ  ॠऺĀॊ ऻॖ:

Hole / ोछঈ

Shaft / धॏरॎ­दॠड



Interference / ऻĀ঴ॕप

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Hole / ोछঈ 

27)

Question Stimulus :­

Mechanical

The ǀalue of speed ƌaĕo iŶ KaplaŶ tuƌďiŶe is kept at / कपलॊन टरबॊइन म७ शॕग अनॏपॊत कॊ मॊन इऺ पर रखॊ जॊतॊ ऻॖ

Ϭ.ϱ / ͗.͜

Ϭ.ϵ / ͗.͠

Ϯ.Ϭ / ͙.͗

ϭ.ϱ / ͘.͜

Correct Answer :­Ϯ.Ϭ / ͙.͗ 

28)

Question Stimulus :­

Mechanical

Which of the following pattern is suitable for mass production of any product?  / ोकऺॎ उĀॊद कॕ थख़क
उĀॊदन ऻॕतॏ ोनĀोल्खत म७ ऺॕ कग़न ऺॊ ोशကॊऺ उपयॏঢ ऻॖ?

Single piece pattern / एकल खॠड ोशကॊऺ

Cope and Drag pattern / ऺॊमॠजĀ एशॠ कह१ण ोशကॊऺ



Cope and Drag pattern / ऺॊमॠजĀ एशॠ कह१ण ोशကॊऺ

Match plate pattern / ोमलॊन पोĀकॊ ोशကॊऺ

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Match plate pattern / ोमलॊन पोĀकॊ ोशကॊऺ 

29)

Question Stimulus :­

CANCELLED

Mechanical

WheŶ iŶ ŵoĕoŶ, the fƌiĐĕoŶ eǆpeƌieŶĐed ďǇ a ďodǇ, is kŶoǁŶ as:  / जब गोतषॎल ऻख़, तब ोकऺॎ ोपॠड ကॊरॊ अनॏभॐत घह१ण कऻलॊतॊ ऻॖ: 

LiŵiĕŶg fƌiĐĕoŶ  / ঋोतबॠधक घह१ण

DǇŶaŵiĐ fƌiĐĕoŶ / गोतषॎल घह१ण

StaĕĐ fƌiĐĕoŶ / ्Āथर (अचल) घह१ण

KiŶeĕĐ fƌiĐĕoŶ / गोतज घह१ण

Correct Answer :­DǇŶaŵiĐ fƌiĐĕoŶ / गोतषॎल घह१ण 

30)

Question Stimulus :­

Mechanical

If the additional air is forced under pressure into the engine cylinder then the process is known as:

 / योद इॠजन ोऺोलॠडर म७ दॊब कॕ ကॊरॊ अोतौरঢ शॊयॏ ঋोशĀ कर दॎ जॊए, तख़ यऻ ঋोॿयॊ कऻलॊतॊ ऻॖ:



 / योद इॠजन ोऺोलॠडर म७ दॊब कॕ ကॊरॊ अोतौरঢ शॊयॏ ঋोशĀ कर दॎ जॊए, तख़ यऻ ঋोॿयॊ कऻलॊतॊ ऻॖ:

Turbulence / ोश঴ख़भ

Compression /  ॠऺपॎीन

Supercharging / अोत­आशॕोषत ऻख़नॊ

Exhaust / रॕचन (ोनकॊऺ)

Correct Answer :­Supercharging / अोत­आशॕोषत ऻख़नॊ 

31)

Question Stimulus :­

Mechanical

The best example of heterogeneous system is: / ोशहमॊॠग तॠআ कॊ ऺशॳĀम उदऻॊरण ऻॖ:

Atmospheric air / शॊयॏमॠडलॎय शॊयॏ

Mixture of hydrogen and oxygen / ऻॊइड३ ख़जन एशॠ ऑসॎजन कॊ ोम঒ण

Cooling fluid in a radiator / एक ोशोकरक (रॕोडयॕटर) म७ तरल कॊ षॎतलन

Mixture of ice, water and steam / ोऻम, जल एशॠ शॊĀ कॊ ोम঒ण

Correct Answer :­Mixture of ice, water and steam / ोऻम, जल एशॠ शॊĀ कॊ ोम঒ण 

32)

Question Stimulus :­



CANCELLED

Mechanical

Efficiency of Otto engine is ______ than the diesel engine  / ऑटख़ इॠजन कॎ कॊय१঴मतॊ डॎजल इॠजन ऺॕ
_________ ऻॖ|

more / अोधक

less / ကॐन

equal / ऺमॊन

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­more / अोधक 

33)

Question Stimulus :­

CANCELLED

Mechanical

I.C. engines are usually supercharged by: / आई.ऺॎ. इॠजन ऺॊधॊरणतॡ इऺकॕ ကॊरॊ अĀोधक आशॕोषत (঴मतॊ ॠऺपĀ) ऻख़
जॊतॕ ऻ॰:

rotary compressor / घॐण१यमॊन  ॠऺपॎीक

radial flow compressor / अĀ१ကॊऺॎ ঋशॊऻ  ॠऺपॎीक

roots blower / मॐल धग़ ॠकनॎ

axial flow compressor / अ঴ॎय ঋशॊऻ  ॠऺपॎीक



Correct Answer :­radial flow compressor / अĀ१ကॊऺॎ ঋशॊऻ  ॠऺपॎीक 

34)

Question Stimulus :­

Mechanical

Which is NOT the part of drilling machine?  / छॕदन (ोड३ ोलॠग) यĀ कॊ अॠग ভॊ नऻॎ ॠ ऻॖ?

Spindle / तकलॎ (्Āॠडल)

Tool holder / औजॊर धॊरक

Table / मॕज (टॕबल)

Cross slide / आीॊ ऺरकन (ॿॗऺ ကॊइड)

Correct Answer :­Cross slide / आीॊ ऺरकन (ॿॗऺ ကॊइड) 

35)

Question Stimulus :­

Mechanical

IŶ oŶe diŵeŶsioŶal floǁ, the floǁ:  / एक­आयॊमॎ ঋशॊऻ म७, ঋशॊऻ: 

is a zig­zag flow / एक कॏ ोटल (ऺोप१ल) ঋशॊऻ ऻॖ

takes plaĐe iŶ stƌaight liŶe / ऺरल रॕखॊ म७ घोटत ऻख़तॊ ऻॖ

takes plaĐe iŶ Đuƌǀe / शॿ म७ घोटत ऻख़तॊ ऻॖ

is steadǇ aŶd uŶifoƌŵ / अोशचल एशॠ ऺमॺप ऻॖ



Correct Answer :­takes plaĐe iŶ stƌaight liŶe / ऺरल रॕखॊ म७ घोटत ऻख़तॊ ऻॖ 

36)

Question Stimulus :­

Mechanical

The brine is an aqueous solution of …… in water. / ঍ॊइन जल म७ ____ कॊ जलॎय ोशलयन ऻॖ|

sodiuŵ Đhloƌide  / ऺख़ोडयम মख़रॊइड

ĐalĐiuŵ ĐaƌďoŶate / कॖ्Āषयम कॊबॳनॕट

sodiuŵ ďiĐaƌďoŶate / ऺख़ोडयम बॊईकॊबॳनॕट

ŵagŶesiuŵ sulphate / मॖ্ॎोषयम ऺलफॕट

Correct Answer :­sodiuŵ Đhloƌide  / ऺख़ोडयम মख़रॊइड 

37)

Question Stimulus :­

Mechanical

What is the uŶit of aŶgulaƌ aĐĐeleƌaĕoŶ? / कख़णॎय ကरण कॎ इकॊई ভॊ ऻॖ?

N‐ŵϮ

ŵ/s

ŵϮ/sϮ

rad/s2



Correct Answer :­rad/s2 

38)

Question Stimulus :­

Mechanical

Which of the following characteristics are correct for throttling process?  / ोनĀोल्खत म७ ऺॕ कग़न ऺॎ
ोशषॕहतॊय७ ইख़ट्ोलॠग ঋोॿयॊ ऻॕतॏ ऺऻॎ ऻॖ?

heat transfer / ऊĀॊ Āथॊनॊॠतरण

work done by expanding steam / ঋऺॊरषॎल शॊĀ ကॊरॊ ोकयॊ गयॊ कॊय१

change in internal energy / आतॠौरक ऊजॊ१ म७ কॊऺ

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ 

39)

Question Stimulus :­

Mechanical

The correct sequence of stroke in a four stroke engine is: / एक चतॏĀरण (फख़र Ā३ख़क) इॠजन म७ चरणख़ ॠ कॊ ऺऻॎ
ॿम ऻॖ:

suction, compression, exhaust and expansion, / चॐहण,  ॠऺपॎीन, ोनकॊऺ एशॠ ঋऺॊर (ोशĀॊर)

expansion, compression, suction and exhaust / ঋऺॊर,  ॠऺपॎीन, चॐऺन एशॠ ोनकॊऺ

suction, compression, expansion and exhaust / चॐहण,  ॠऺपॎीन, ঋऺॊर एशॠ ोनकॊऺ



suction, expansion, compression and exhaust / चॐहण, ঋऺॊर,  ॠऺपॎीन एशॠ ोनकॊऺ

Correct Answer :­suction, compression, expansion and exhaust / चॐहण,  ॠऺपॎीन, ঋऺॊर एशॠ ोनकॊऺ 

40)

Question Stimulus :­

Mechanical

Triggering fission is more effectively caused by _______ moving neutrons.  / ोशघटन (ोफषन) कॊ ঋॊरॠभ
______ गोत ॠऺपĀ ोनरशॕषॊणॏ (ကॐट३ ॗन) ကॊरॊ अोधक ঋभॊशॎ ॺप ऺॕ घोटत ऻख़तॊ ऻॖ|

fast / ঈॏत

slow / मॠद

very fast / अोत ঈॏत

very very slow / अĀोधक मॠद 

Correct Answer :­slow / मॠद 

41)

Question Stimulus :­

Mechanical

Which of the following condition is correct for the velocity of belt, when it transmits maximum
power?/ ोनĀोल्खत म७ ऺॕ कग़न ऺॎ अशĀथॊ पĀॕ कॕ शॕग कॕ ोलए ऺऻॎ ऻॖ, जब शऻ अोधकतम ष्ঢ  ॠऺचॊौरत (ऻĀॊॠतौरत) करतॊ ऻॖ?

(T/m)1/2 / (T/m)1/2



(2T/m)1/2 / (2T/m)1/2

(T/3m)1/2 / (T/3m)1/2

none of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­(T/3m)1/2 / (T/3m)1/2 

42)

Question Stimulus :­

Mechanical

WhiĐh of the folloǁiŶg ŵateƌial is NOT used foƌ ĐuħŶg tools? / ोनĀोल्खत म७ ऺॕ कग़न ऺॕ शĀॏ कॊ उपयख़ग छॕदन औजॊर ऻॕतॏ नऻॎ ॠ ऻख़तॊ?

Cast iƌoŶ  / ढलशॊँ लग़ऻ

High CaƌďoŶ steel / उৡ ঋॊॠगॊर (कॊब१न) इĀॊत

TuŶgsteŶ Đaƌďide / चॠडॊतॏ (टॠगĀन) कॊबॊ१इड

High speed steel / उৡ शॕग इĀॊत

Correct Answer :­Cast iƌoŶ  / ढलशॊँ लग़ऻ 

43)

Question Stimulus :­

Mechanical

OŶe liteƌ of ǁateƌ oĐĐupies a ǀoluŵe of: / एक लॎटर जल इतनॊ आयतन अोधঁऻण करतॊ ऻॖ 

ϭϬϬ ŵϯ / ͗͗͘ मॎ͚



ϭϬϬϬ Đŵϯ / ͗͗͗͘ ऺॕमॎ͚

ϭϬϬϬϬ Đŵϯ / ͗͗͗͗͘ ऺॕमॎ͚

ϭϬϬϬϬϬ ŵϯ / ͗͗͗͗͗͘ मॎ͚

Correct Answer :­ϭϬϬϬ Đŵϯ / ͗͗͗͘ ऺॕमॎ͚ 

44)

Question Stimulus :­

Mechanical

For a floating body to be in stable equilibrium, its metacentre should be / ोकऺॎ ကशमॊन ोपॠड कख़ ्Āथर
ऺॊĀशĀथॊ ( ॠऺतॏलन) म७ ऻख़नॕ कॕ ोलए, इऺकॊ तĀकॕက (मॕटॊ ७ऺटर) ऻख़नॊ चॊोऻए 

below the centre of gravity / गॏॹĀॊकह१ण कॕက कॕ अधख़शत५ 

below the centre of buoyancy / उĀॊशकतॊ कॕက कॕ अधख़शत५

above the centre of buoyancy / उĀॊशकतॊ कॕက कॕ ऊĀ१शत५                  

above the centre of gravity / गॏॹĀॊकह१ण कॕက कॕ ऊĀ१शत५         

Correct Answer :­above the centre of gravity / गॏॹĀॊकह१ण कॕက कॕ ऊĀ१शत५          

45)

Question Stimulus :­

CANCELLED

Mechanical



Foƌ the Đoŵplete ĐoŵďusĕoŶ of ĐaƌďoŶ the ƌeƋuiƌed aiƌ ǁill ďe aďout………… / ঋॊॠगॊर (कॊब१न) कॕ पॐण१ दऻन ऻॕतॏ, आशĀक शॊयॏ ऻख़गॎ
ঋॊयॡ _____

Ϯ.ϲϳ kg / ͙.͝͞ ोकঁॊ

ϭϮ.ϳ kg / ͙͘.͞ ोकঁॊ

ϭϭ.ϲ kg / ͘͘.͝ ोकঁॊ

ϭϰ.ϱ kg / ͛͘.͜ ोकঁॊ

Correct Answer :­ϭϭ.ϲ kg / ͘͘.͝ ोकঁॊ 

46)

Question Stimulus :­

Mechanical

The operation of manufacturing wire from a bar is called: / एक छी ऺॕ तॊर ोनमॊ१ण करनॕ कॎ ोॿयॊ कख़ कऻतॕ ऻ॰:

Rolling / बॕलनॊ (रख़ोलॠग)

Smithing / धॊतॏ कम१ (्Āोथॠग)

Forging / ढलॊई (फख़ोज४ग)

Drawing / कह१ण (ड३ ॗइॠग)

Correct Answer :­Drawing / कह१ण (ड३ ॗइॠग) 

47)

Question Stimulus :­



Mechanical

Silicon is added in low carbon steels to increase ___________ Property / ________ गॏण बुॊनॕ कॕ ोलए
ोनĀ ঋॊॠगॊर (कॊब१न) इĀॊत म७ ऺॖकतॊ (ोऺोलकॗन) ोमलॊयॊ जॊतॊ ऻॖ

Hardness / कठख़रतॊ

Brittleness / भॠगॏरतॊ

Porosness  / ऺरॠউतॊ

Softness / कख़मलतॊ

Correct Answer :­Porosness  / ऺरॠউतॊ 

48)

Question Stimulus :­

Mechanical

IŶ theƌŵodǇŶaŵiĐ ĐǇĐles, the Oĥo CǇĐle is ƌepƌeseŶted ďǇ ǁhiĐh of the folloǁiŶg T‐S diagƌaŵ / ऊĀॊঋशॖोगक चॿख़ॠ म७, ोनĀोल्खत म७ ऺॕ
ोकऺ टॎ­एऺ रॕखॊोचআ ကॊरॊ ऑटख़ चॿ कख़ दषॊ१यॊ जॊतॊ ऻॖ? 





Correct Answer :­  

49)

Question Stimulus :­

Mechanical

The initial tension in the flat belt drive is given by: / ऺपॊट पĀॊ चॊलक म७ ঋॊरॠ ोभक तनॊश कख़ इऺकॕ ကॊरॊ दषॊ१यॊ
जॊतॊ ऻॖ:

Tension of tight side / Āु छख़र कॊ तनॊश

Tension of slack side / ोषोथल छख़र कॊ तनॊश

Average tension of tight and slack side / Āु एशॠ ोषोथल छख़रख़ ॠ कॊ औऺत तनॊश

Product of tension of tight and slack side / Āु एशॠ ोषोथल छख़रख़ ॠ कॕ तनॊश कॊ गॏणनफल

Correct Answer :­Average tension of tight and slack side / Āु एशॠ ोषोथल छख़रख़ ॠ कॊ औऺत तनॊश 

50)

Question Stimulus :­

Mechanical



In  simple harmonic motion , the ratio between the displacement of mass and its _____ is constant.
/ ऺरल आशत१ गोत म७, ঈကमॊन कॕ ोशĀथॊपन एशॠ इऺकॕ _____ कॊ अनॏपॊत ्Āथर ऻख़तॊ ऻॖ|

frequency / आश॑ोĀ

time period / ऺमय अशोध

velocity / शॕग

acceleration / ကरण

Correct Answer :­acceleration / ကरण 

51)

Question Stimulus :­

Mechanical
Foƌ a peƌfeĐtlǇ ƌigid ďodǇ, the YouŶg Modulus of elasĕĐitǇ is eƋual to / एक আॏोटऻॎन ऋजॏ ोपॠड कॕ ोलए, ঋĀॊĀथतॊ कॊ यॠग मॗडॏलॏऺ इऺकॕ
ऺमॊन ऻॖ:

OŶe / एक

)eƌo / षॐက

IŶfiŶitǇ / अऺॎम

NoŶe of the aďoǀe / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­IŶfiŶitǇ / अऺॎम 

52)

Question Stimulus :­



Mechanical

Gear drive is _____________ than belt drive in power transmission / दĀ­चॿ चॊलक ष्ঢ  ॠऺचॊरण
(ऻĀॊॠतरण) म७ पĀॊ­चॊलक ऺॕ __________ ऻॖ

more efficient / अोधक ऺ঴म (फलख़Āॊदक)

less efficient / कम ऺ঴म (फलख़Āॊदक)

equally efficient / ऺमॊन ऺ঴म (फलख़Āॊदक)

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­more efficient / अोधक ऺ঴म (फलख़Āॊदक) 

53)

Question Stimulus :­

Mechanical

WheŶ the li├ is goiŶg doǁŶ fƌeelǇ, the appaƌeŶt ǁeight of the ŵaŶ Đoŵpaƌed to the oƌigiŶal ǁeight is: / जब उĀॊपक (ोलĀ) Ā ॠৢद
ॺप ऺॕ पोतत ऻख़ रऻॊ ऻॖ, က्ঢ कॕ शॊĀोशक भॊर कॎ तॏलनॊ म७ उऺकॊ ঋतॎत भॊर ऻॖ: 

Less / ကॐन

Moƌe / अोधक

EƋual / ऺमॊन

NoŶe of aďoǀe / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Less / ကॐन 



54)

Question Stimulus :­

Mechanical

The range of optimum pressure applied in electric resistance welding is given by: / शॖद्यॏ ोतक ঋोतरख़ध
झलॊई म७ ঋयॏঢ अोधकतम दॊब कॕ ोशĀॊर कख़ इऺकॕ ကॊरॊ दषॊ१यॊ जॊतॊ ऻॖ:

0 to 5 Mpa / 0 ऺॕ ͜ Mpa

5 to 10 Mpa / ͜ ऺॕ ͗͘ Mpa

10 to 25 Mpa / ͗͘ ऺॕ ͙͜ Mpa

more than 25 Mpa / ͙͜ Mpa ऺॕ अोधक

Correct Answer :­5 to 10 Mpa / ͜ ऺॕ ͗͘ Mpa 

55)

Question Stimulus :­

Mechanical

In heat treatment processes, which process is used to hardened steel quickly?  / ऊĀॊ उपचॊर ঋोॿयॊ म७,
इĀॊत कॕ षॎং Āुॎकरण ऻॕतॏ कग़न ऺॎ ঋोॿयॊ कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

induction hardening / ঋशत१न (इॠडলन) Āुॎकरण

nitriding / नॊइट३ ॊईोडॠग

cyaniding / ऺॊयॊनॊइोडॠग

carburizing / कॊरबॐरॊइोिॠग



Correct Answer :­induction hardening / ঋशत१न (इॠडলन) Āुॎकरण 

56)

Question Stimulus :­

Mechanical

What is the ĐoŶĐept of NeǁtoŶ’s fiƌst laǁ of ŵoĕoŶ? / ကॐटन कॕ गोतकॎ कॕ ঋथम ोऺĀॊॠत कॎ अशधॊरणॊ ভॊ ऻॖ? 

FoƌĐe / बल

Internal Energy / आॠतौरक ऊजॊ१

Inertia / जीက

Woƌk  / कॊय१

Correct Answer :­Inertia / जीက 

57)

Question Stimulus :­

Mechanical

In various geometry of the product, stress concentration factor depends on which of the following
condition? / उĀॊद कॕ अनॕक Āॊोमोत म७, ोनĀोल्खत म७ ऺॕ कग़न ऺॎ अशĀथॊ पर बलॊघॊत ऺॊॠঈतॊ घटक ोनभ१र करतॊ ऻॖ?

Variation of geometrical  cross section of the part / अॠष कॕ Āॊोमतॎय अनॏঋĀथ­पौरৢॕद कॊ
अॠतर

Quality of the part / अॠष कॎ गॏणशĀॊ

Uniform geometrical cross section of the part / अॠष कॊ ऺमॺप Āॊोमतॎय अनॏঋĀथ­पौरৢॕद
None of these  / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ



None of these  / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Variation of geometrical  cross section of the part / अॠष कॕ Āॊोमतॎय अनॏঋĀथ­पौरৢॕद कॊ
अॠतर 

58)

Question Stimulus :­

Mechanical

Condensing temperature in a refrigerator is the temperature / ोकऺॎ ঋषॎतक म७  ॠऺघनन तॊपमॊन यऻ तॊपमॊन
ऻख़तॊ ऻॖ 

of cooling medium      / षॎतलन मॊĀम कॊ

of freezing zone / ोऻमॎकरण ঴ॕআ कॊ

of evaporator / शॊ्Āআ कॊ 

at which refrigerant gas becomes liquid / ोजऺ पर ঋषॎतक गॖऺ तरल ऻख़ जॊतॊ ऻॖ

Correct Answer :­at which refrigerant gas becomes liquid / ोजऺ पर ঋषॎतक गॖऺ तरल ऻख़ जॊतॊ ऻॖ 

59)

Question Stimulus :­

Mechanical

The application of gas laws are limited to:  / गॖऺ ोऺĀॊॠतख़ ॠ कॕ ঋयख़ग इन तक ऺॎोमत ऻ॰:

gases and liquid / गॖऺ एशॠ तरल

steam and liquid / शॊĀ एशॠ तरल
gases alone  / कॕशल गॖऺ



gases alone  / कॕशल गॖऺ

gases and vapours / गॖऺ एशॠ शॊĀ

Correct Answer :­gases alone  / कॕशल गॖऺ 

60)

Question Stimulus :­

Mechanical

AppliĐaĕoŶ of GaŶĥ Đhaƌt is foƌ:  / ग॰ट ऺॊरणॎ कॊ ঋयख़ग इऺ ऻॕतॏ ऻॖ: 

Mateƌial haŶdliŶg / ऺॊमঁॎ ကशऻॊर

Production schedule / उĀॊदन अनॏ ॐऺचॎ (कॊय१ॿम)

MaĐhiŶe ƌepaiƌ sĐhedule / यॠআ जॎणॳĀॊर अनॏ ॐऺचॎ ;कॊय१ॿमͿ

IŶǀeŶtoƌǇ ĐoŶtƌol / शĀॏ ोनयॠআण

Correct Answer :­Production schedule / उĀॊदन अनॏ ॐऺचॎ (कॊय१ॿम) 

61)

Question Stimulus :­

Mechanical

The ratio of base circle radius and pitch circle radius in an involute gear is equal to: / एक जोटल दॠतचॿ
म७ आधॊर श॑Ā ोআĀॊ एशॠ ऊĀ१ श॑Ā ोআĀॊ कॊ अनॏपॊत इऺकॕ ऺमॊन ऻॖ:

sin   / Āॊ 



cos   / कख़Āॊ 

tan   / Āष१Āॊ 

cosec   / ကॏĀमĀॊ

Correct Answer :­cos   / कख़Āॊ   

62)

Question Stimulus :­

Mechanical

Which of the following is included in power transmission? / ष्ঢ  ॠऺचॊरण (ऻĀॊॠतरण) म७ ोनĀोल्खत म७ ऺॕ ভॊ
ऺ्Āोलत ऻख़तॊ ऻॖ?

counter shaft / ঋोतधॏरॎदॠड (कॊउॠटर षॊĀट)

line shaft / रॖ्खक धॏरॎदॠड (लॊइन षॊĀट)

Overhead Shaft / ोऺरख़परॎ धॏरॎदॠड (ओशरऻॕड षॊĀट)

all of the above / उपरख़ঢ ऺभॎ

Correct Answer :­all of the above / उपरख़ঢ ऺभॎ 

63)

Question Stimulus :­

Mechanical

The ǀeloĐitǇ of a ŵoǀiŶg paƌĕĐle ǁith siŵple haƌŵoŶiĐ ŵoĕoŶ is _______ at the ŵeaŶ posiĕoŶ. / ऺरल आशत१ गोत ऺॕ गोतषॎल एक

कण कॊ शॕग मॊĀ ्Āथोत म७  ________ ऻख़तॊ ऻॖ।



कण कॊ शॕग मॊĀ ्Āथोत म७  ________ ऻख़तॊ ऻॖ।

zeƌo / षॐက

maximum  / अोधकतम

equal / ऺमॊन

ŵiŶiŵuŵ / ကॐनतम

Correct Answer :­maximum  / अोधकतम 

64)

Question Stimulus :­

Mechanical

All the four strokes of an engine is completed in _______ revolution/s of the crankshaft / इॠजन कॕ
ऺभॎ चॊर चरण अरॊलदĀ कॕ _________ पौरॿमण म७ पॐण१ ऻख़ जॊतॕ ऻ॰|

one / एक

two  / दख़

three / तॎन

four / चॊर

Correct Answer :­two  / दख़ 

65)

Question Stimulus :­



Mechanical

In a steam turbine, the critical pressure ratio for initial dry saturated steam is given by:  / एक शॊĀ
टरबॊइन म७, ঋॊरॠ ोभक षॏĀ ऺॊॠঈ शॊĀ ऻॕतॏ ोशहम दॊब अनॏपॊत इऺकॕ ကॊरॊ दषॊ१यॊ जॊतॊ ऻॖ:

0.545 / ͗.͛͜͜

0.577 / ͗.͜͞͞

0.585 / ͗.͜͟͜

0.595 / ͗.͜͜͠

Correct Answer :­0.577 / ͗.͜͞͞ 

66)

Question Stimulus :­

Mechanical

When the product is produced with Rs.2000 fixed cost and Rs.20 per piece as variable cost by one
method and with Rs.1500 fixed cost with Rs.30 per piece by second method, then the break even
quantity for both methods is given by: / जब ोकऺॎ उĀॊद कख़ एक ोशोध ကॊरॊ Rs.͙͗͗͗ ्Āथर लॊगत एशॠ Rs.͙͗
पौरशत१नषॎल लॊगत ঋोत इकॊई एशॠ ोကतॎय ोशोध ကॊरॊ Rs.͗͗͘͜ ्Āथर लॊगत एशॠ Rs.͚͗ पौरशत१नषॎल लॊगत ঋोत इकॊई पर उĀॊोदत
ोकयॊ जॊए, तख़ उभय ोशोधयख़ ॠ ऻॕतॏ ऻॊोनरोऻत मॊআॊ कख़ इऺकॕ ကॊरॊ दषॊ१यॊ जॊतॊ ऻॖ:

45 / ͛͜

49 / ͛͠           

50 / ͗͜  

55 / ͜͜



Correct Answer :­50 / ͗͜   

67)

Question Stimulus :­

Mechanical

The cold working in which hardness of work is increased, is called: / षॎतल कॊय१ ोजऺम७ कॊय१ कॎ
कठख़रतॊ बदतॎ ऻॖ, शऻ कऻलॊतॊ ऻॖ:

Work­hardening / कॊय१­Āुॎकरण

Age hardening / आयॏ Āुॎकरण

Flame hardening / ोषखॊ Āुॎकरण

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Work­hardening / कॊय१­Āुॎकरण 

68)

Question Stimulus :­

Mechanical

Second law of thermodynamics defines which property among the following? / ोनĀोल्खत म७ ऺॕ कग़न
ऺॎ ोशषॕहतॊ (गॏण) कख़ ऊĀॊगोतकॎ (ऊĀॊঋशॖोगकॎ) कॊ ोကतॎय ोऺĀॊॠत पौरभॊोहत करतॊ ऻॖ? 

Enthalpy / पॐणॳĀॊ (तॊपॎय धॊौरतॊ) 

Equilibrium /  ॠऺतॏलन (ऺॊĀॊशĀथॊ) 

Entropy / उĀम
Internal energy / आॠतौरक ऊजॊ१



Internal energy / आॠतौरक ऊजॊ१

Correct Answer :­Entropy / उĀम 

69)

Question Stimulus :­

Mechanical

The floǁ of ǁateƌ iŶ household taps, ǁheŶ it is opeŶ posiĕoŶ is / जब खॏलॊ ॽआ ऻख़, तख़ घरॕलॐँ नलख़ ॠ म७ जल कॊ ঋशॊऻ ऻख़तॊ ऻॖ:

laŵiŶaƌ / ोशကॊोऺत

uŶsteadǇ / अ्Āथर

uŶifoƌŵ / ऺमॺप

ƌotaĕoŶal / चॿॎय

Correct Answer :­uŶsteadǇ / अ्Āथर 

70)

Question Stimulus :­

Mechanical

IŶ the ƌelaĕoŶship of pƌessuƌe aŶd ǀoluŵe PVŶ=CoŶstaŶt, if the ǀalue of eǆpoŶeŶt Ŷ = Ϭ, theŶ the pƌoĐess is:  / दॊब एशॠ आयतन कॕ  ॠऺबॠध
म७ PVŶ = अचल, योद घॊत Ŷ कॊ मॊन Ŷ = ͗, तख़ यऻ ঋोॿयॊ ऻॖ: 

IseŶtƌopiĐ pƌoĐess / ऺमख़Āमॎ ঋोॿयॊ

Isotheƌŵal pƌoĐess / ऺमतॊपॎ ঋोॿयॊ



ĐoŶstaŶt pƌessuƌe pƌoĐess / ्Āथर दॊब ঋोॿयॊ

adiaďaĕĐ pƌoĐess / ्Āथरख़Ā (एोडअबॕटॎक) ঋोॿयॊ

Correct Answer :­ĐoŶstaŶt pƌessuƌe pƌoĐess / ्Āथर दॊब ঋोॿयॊ 

71)

Question Stimulus :­

Mechanical

In handling materials during manufacture of cement, which among the below given options is
widely used? /  ॠऺयख़जक चॐण१ (श঄ चॐण१ / ऺॎम७ट) कॕ उĀॊदन कॕ ऺमय ऺॊमोঁयख़ ॠ कॕ ကशऻॊर म७, ोनĀ ঋदĀ कग़न ­ ऺॊ ोशकĀ
ကॊपक ॺप ऺॕ ကशॼत ऻख़तॊ ऻॖ?

Bucket elevator / डख़लचॎ उĀॊपक (बकॕट एलॎशॕटर)

Fork Lift truck / ोशषॊ्खत उĀॊपक शॊऻन (फॗक१  ोलĀ ट३क)

Belt conveyor / पĀॊ  ॠऺशऻनॎ

Drag chain feeder / कह१ण ঒॑ॠखलॊ  ॠऺभरक

Correct Answer :­Bucket elevator / डख़लचॎ उĀॊपक (बकॕट एलॎशॕटर) 

72)

Question Stimulus :­

Mechanical

The centrifugal type of rotary compressor is used in: / घॐण१न  ॠऺपॎीक (रख़टरॎ कॠ ঋॕऺर) कॕ अपकॕကॎ ঋकॊर कॊ
उपयख़ग इऺम७ ऻख़तॊ ऻॖ:



Boilers / রथोनআ (भĀॎ)

Gas turbine / गॖऺ टरबॊइन

Cooling plant / षॎतलन  ॠऺयॠআ

none of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Gas turbine / गॖऺ टरबॊइन 

73)

Question Stimulus :­

Mechanical

The flywheel of a steam engine has mass moment of inertia 2500 kg­m2. If the angular acceleration
is 0.6 rad/s2, what will be the starting torque required? / एक शॊĀचॊोलत इॠजन कॕ भॊरचॿ (Āॊई Āॎल) कॊ
ঈကमॊन जीက आघॐण१ ऻॖ ͙͗͗͜ kg­m2. योद कख़णॎय ကरण ͗.͝ rad/s2  ऻॖ, तख़ आशĀक ঋॊरॠ ोभक घॐण१­बल ভॊ ऻख़गॊ?

2500 Nm / ͙͗͗͜ Nm

2000 Nm / ͙͗͗͗ Nm

1850 Nm / ͗͘͟͜ Nm

1500 Nm / ͗͗͘͜ Nm

Correct Answer :­1500 Nm / ͗͗͘͜ Nm 

74)

Question Stimulus :­



Mechanical

Which of the following is correct for white cast iron? / Āॕत ढलशॊँ लग़ऻ ऻॕतॏ ोनĀोल्खत म७ ऺॕ ভॊ ऺऻॎ ऻॖ?

high compressive strength / उৡ  ॠऺपॎीक ঴मतॊ

more ductile / अोधक नमनॎय (डঠॊइल)

high tensile strength / उৡ नĀ ঴मतॊ (तကतॊ)

all of the above / उपरख़ঢ ऺभॎ

Correct Answer :­high compressive strength / उৡ  ॠऺपॎीक ঴मतॊ 

75)

Question Stimulus :­

Mechanical

The multistage centrifugal pumps are used to obtain:  / बॽचरण अपकॕကॎ पॠप कॊ उपयख़ग यऻ ঋॊĀ करन७ ऻॕतॏ ऻख़तॊ
ऻॖ:

high discharge at high head / उৡ षॎष पर उৡ ोनĀरण

high head / उৡ षॎष

high efficiency with high discharge / उৡ ोनĀरण ऺोऻत उৡ कॊय१঴मतॊ

pumping of viscous fluids / गॊुॕ तरलख़ ॠ कॊ प्Āॠग

Correct Answer :­high discharge at high head / उৡ षॎष पर उৡ ोनĀरण 

76)



Question Stimulus :­

Mechanical

Seam welding is: / ऺॎशन झलॊई ऻॖ:

a continuous spot welding process / एक ोनरॠतर ोबॠदॏ झलॊई ঋोॿयॊ

an arc welding process / एक शॖद्यॏ ोतक झलॊई ঋोॿयॊ

an electrode beam welding / एक ोशद्यॏ दঁ ोकरण झलॊई

a multi spot welding process / एक बॽ­ोबॠदॏ झलॊई ঋोॿयॊ

Correct Answer :­a continuous spot welding process / एक ोनरॠतर ोबॠदॏ झलॊई ঋोॿयॊ 

77)

Question Stimulus :­

Mechanical

Which of the following screws is termed as a machine screw?  / ोनĀोल्खत म७ ऺॕ ोकऺ प७चदॊर कॎलक (Āॐ ) कख़
यĀ (मषॎन) Āॐ  कऻॊ जॊतॊ ऻॖ?

coarse pitch threaded / कक१ ष उৡ प७चदॊर

plane slotted head  / ऺपॊट खॊँचॕदॊर ोऺर

headless / ोऺर रोऻत

stretched threaded / तनॊ ॽआ प७चदॊर

Correct Answer :­plane slotted head  / ऺपॊट खॊँचॕदॊर ोऺर 



78)

Question Stimulus :­

Mechanical

Which of the following fasteners are used in flange coupling? / पॊĀ१  ॠऺयख़जन म७ ोनĀोल्खत म७ ऺॕ कग़न ऺॊ बॠधनॎ
कॊ उपयख़ग ऻख़तॊ ऻॖ?

Screws / प७चदॊर कॎलक (Āॐ )

bolts and nuts / बख़Ā एशॠ नट

Rivets / ौरशॕट

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­bolts and nuts / बख़Ā एशॠ नट 

79)

Question Stimulus :­

Mechanical

If r is the radius of the shaft and tan   is the coefficient of friction, then the radius of friction for
the shaft rotating in bearing is given by: / योद r धॏरॎ­दॠड कॊ ोআĀॊ ऻॖ एशॠ tan   घह१ण कॊ गॏणनॊॠक ऻॖ, तख़ धॊरक
(बॕअौरॠग) म७ घॐण१यमॊन धॐरॎ­दॠड ऻॕतॏ घह१ण कॊ ोআĀॊ इऺकॕ ကॊरॊ दषॊ१यॊ जॊतॊ ऻॖ:

r sin   / r Āॊ 

r sec   / r कख़ोटĀॊ 



r cosec  / r ကॏĀमĀॊ

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­r sin   / r Āॊ   

80)

Question Stimulus :­

Mechanical

The ĐoŶteŶt of hǇdƌogeŶ iŶ steel Đauses: / इĀॊत म७ ऻॊइड३ ख़जन कॎ मॊআॊ इऺकॊ कॊरण बनतॊ ऻॖ: 

CoƌƌosioŶ ƌesistaŶĐe / ঴य (जॠग) ঋोतरख़ध

ReduĐed ŶeutƌoŶ aďsoƌpĕoŶ Đƌoss‐seĐĕoŶ / কĀ ोनरॊशॕषॊणॏ (ကॏट३ ॗन) अशषख़हण अनॏঋĀथ पौरৢॕद

EŵďƌiĥleŵeŶt / भॠगॏर बनॊनॊ

Iŵpƌoǀed ǁeld aďilitǇ / उĀत  ॠऺधॊन (झलॊई) यख़৓तॊ

Correct Answer :­EŵďƌiĥleŵeŶt / भॠगॏर बनॊनॊ 

81)

Question Stimulus :­

Mechanical

For material transportation, conveyors are used when the prevailing conditions include: / ऺॊमঁॎ
पौरशऻन कॕ ोलए, ঋशऻोनयख़ ॠ कॊ उपयख़ग तब ोकयॊ जॊतॊ ऻॖ जब ကॊĀ अशĀथॊओॠ म७ ऺ्Āोलत ऻख़:

uniform loads / ऺमॊन भॊर

materials move relatively continuously / ऺॊमोঁयॊँ तॏलनॊĀक ॺप ऺॕ ोनरॠतर चलतॎ रऻ७



materials move relatively continuously / ऺॊमोঁयॊँ तॏलनॊĀक ॺप ऺॕ ोनरॠतर चलतॎ रऻ७

routes do not vary / मॊग१ पौरशोत१त नॊ ऻख़

all of the above / उपरख़ঢ ऺभॎ

Correct Answer :­all of the above / उपरख़ঢ ऺभॎ 

82)

Question Stimulus :­

Mechanical

The rate at which the heat is absorbed in a cycle from the interior space to be cooled is called as /
ोजऺ दर पर षॎतलन ऻॕतॏ आतॠौरक Āथॊन ऺॕ एक चॿ म७ ऊĀॊ अशषख़ोहत ऻख़तॎ ऻॖ, शऻ कऻलॊतॊ ऻॖ 

Thermal efficiency / ऊĀॎय कॊय१঴मतॊ

Refrigerating effect / ঋषॎतन ঋभॊश

COP / ऺॎओपॎ

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Refrigerating effect / ঋषॎतन ঋभॊश 

83)

Question Stimulus :­

Mechanical

IŶ a fouƌ ďaƌ ĐhaiŶ oƌ ƋuadƌiĐ ĐǇĐle ĐhaiŶ: / चतॏह्­रख़ध ॻॠखलॊ अथशॊ ोကघॊतॎ चॿ ॻॠखलॊ म७:



EaĐh of the fouƌ paiƌs is a tuƌŶiŶg paiƌ / चॊरख़ ॠ म७ ऺॕ ঋĀॕक यॏ৒ एक पौरशत१नकॊरॎ यॏ৒ ऻॖ

Two is a turning pair and two are sliding pairs / दख़ एक पौरशत१नकॊरॎ यॏ৒ ऻॖ एशॠ दख़ ऺप१ण यॏ৒ ऻ॰

EaĐh of the fouƌ paiƌs is a slidiŶg paiƌ / चॊरख़ ॠ म७ ऺॕ ঋĀॕक यॏ৒ एक ऺप१ण यॏ৒ ऻॖ

none of above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­EaĐh of the fouƌ paiƌs is a tuƌŶiŶg paiƌ / चॊरख़ ॠ म७ ऺॕ ঋĀॕक यॏ৒ एक पौरशत१नकॊरॎ यॏ৒ ऻॖ 

84)

Question Stimulus :­

Mechanical

Which is copper free alloy? / कग़न ऺॊ ोम঒ॊतॏ तॊএ मॏঢ ऻॖ? 

Invar / इĀॊर

Brass / पॎतल

Monel / मख़नॕल

Phosphor bronze    / भॊĀर कॊॠĀ

Correct Answer :­Invar / इĀॊर 

85)

Question Stimulus :­

Mechanical

In an ideal Brayton refrigeration cycle, the Refrigerant: / एक आदष१ ঍ॕटन ঋषॎतन चॿ म७, ঋषॎतक: 

Remains as a liquid throughout. / आĀख़पॊॠत तरल बनॊ रऻतॊ ऻॖ      



Remains as a liquid throughout. / आĀख़पॊॠत तरल बनॊ रऻतॊ ऻॖ      

remains as a gas throughout. / आĀख़पॊॠत गॖऺ बनॊ रऻतॊ ऻॖ

Changes phase from liquid initially to gas. / ঋॊरॠ ोभक तरल अशĀथॊ ऺॕ गॖऺ म७ पौरशोत१त ऻख़ जॊतॊ ऻॖ  

changes phase from gas initially to liquid. / ঋॊरॠ ोभक गॖऺ अशĀथॊ ऺॕ तरल म७ पौरशोत१त ऻख़ जॊतॊ ऻॖ

Correct Answer :­remains as a gas throughout. / आĀख़पॊॠत गॖऺ बनॊ रऻतॊ ऻॖ 

86)

Question Stimulus :­

Mechanical

Which of the following is NOT the part of roller bearing? / ोनĀोल्खत म७ ऺॕ ভॊ एक रख़लर बॕयौरॠग कॊ अॠग नऻॎ ॠ ऻॖ?

inner race / आतॠौरक रॕऺ

outer race / बॊĀ रॕऺ

shaft / धॏरॎ­दॠड

cage / ोपॠजर

Correct Answer :­shaft / धॏरॎ­दॠड 

87)

Question Stimulus :­

Mechanical

WheŶ a ƌigid ďodǇ is suspeŶded ǀeƌĕĐallǇ aŶd it osĐillates ǁith a sŵall aŵplitude uŶdeƌ the aĐĕoŶ of the foƌĐe of gƌaǀitǇ, the ďodǇ is



kŶoǁŶ as:  / जब कख़ई कठख़र ोपॠड कख़ लॠबशत ोनलॠोबत रखॊ जॊए एशॠ शऻ गॏॹĀॊकह१ण बल कॕ ঋभॊश म७ लघॏ आयॊम कॕ ऺॊथ दख़लन करॕ,
तख़ शऻ ोपॠड कऻलॊतॊ ऻॖ: 

SeĐoŶd’s peŶduluŵ / ऺॕकॠ ड लख़लक

CoŵpouŶd peŶduluŵ / यग़ोगक लख़लक

Simple pendulum / ऺरल लख़लक

ToƌsioŶal peŶduluŵ  / ोशमख़टन लख़लक

Correct Answer :­CoŵpouŶd peŶduluŵ / यग़ोगक लख़लक 

88)

Question Stimulus :­

Mechanical

WhiĐh pheŶoŵeŶoŶ is NOT used iŶ the pƌopeƌtǇ of haƌdŶess: / कठख़रतॊ कॎ ोशषॕहतॊ म७ कग़न ऺॎ पौरघटनॊ कॊ उपयख़ग नऻॎ ॠ ऻख़तॊ: 

IŶdeŶtaĕoŶ / दॠतॏरतॊ

FƌaĐtuƌe / भॠजन

Weaƌ / ঴य (जॎण१न)

SĐƌatĐh  / खरख़ ॠच

Correct Answer :­FƌaĐtuƌe / भॠजन 

89)

Question Stimulus :­



Mechanical

Volumetric efficiency of a compressor, ____________  with increase in compression ratio / ोकऺॎ
ॠऺपॎीक कॊ आयतनॎ कॊय१঴मतॊ,  ॠऺपॎीन अनॏपॊत म७ श्॑Ā कॕ ऺॊथ _______

increases / शोध१त ऻख़तॊ ऻॖ

is constant / ्Āथर ऻॖ

decreases / কॊऺ ऻख़तॊ ऻॖ

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­decreases / কॊऺ ऻख़तॊ ऻॖ 

90)

Question Stimulus :­

Mechanical

The difference between upper limit and lower limit of the shaft is known as: / धॐौर­दॠड कॕ ऊĀ१­ऺॎमॊ एशॠ
अधख़­ऺॎमॊ कॊ अॠतर कऻलॊतॊ ऻॖ:

Upper deviation / ऊĀ१ ोशचलन

Lower deviation / अधख़ ोशचलन

Fundamental deviation / मॐलभॐत ोशचलन

Tolerance / ऺोऻĀॏतॊ

Correct Answer :­Tolerance / ऺोऻĀॏतॊ 



91)

Question Stimulus :­

Mechanical

The pƌessuƌe ŵeasuƌed iŶ a piezoŵeteƌ tuďe is deteƌŵiŶed ďǇ:  / एक पॎिख़मॎटर नोलकॊ म७ मॊोपत दॊब कख़ इऺकॕ ကॊरॊ Āॊत ोकयॊ जॊतॊ
ऻॖ: 

N/mm2

N/ŵϮ

Head of liquid / तरल कॊ षॎह१

N/cm2 

Correct Answer :­Head of liquid / तरल कॊ षॎह१ 

92)

Question Stimulus :­

Mechanical

Fluid flow in a straight circular pipe is typically turbulent in nature when the Reynolds number (Re)
is / एक ऋजॏ गख़लॊकॊर नोलकॊ म७ तरल कॊ ঋशॊऻ तब लॊ঴ोणक ॺप ऺॕ अषॊॠत ऻख़तॊ ऻॖ जब रॕनॗĀ  ॠऺূॊ (Re ) ऻख़ 

2000 < Re < 4000 / ͙͗͗͗ < Re < ͛͗͗͗ 

Re < 2000 / Re < ͙͗͗͗

Re > 4000 / Re > ͛͗͗͗

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ



None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Re > 4000 / Re > ͛͗͗͗ 

93)

Question Stimulus :­

Mechanical

What is a Rotameter used to measure? / रख़टॊमॎटर ভॊ मॊपन७ म७ ကशॼत ऻख़तॊ ऻॖ? 

Potential energy stored in a spring    / एक कमॊनॎ म७ भॠडॊौरत ्Āथोतज ऊजॊ१

Rotational speed of a shaft on a workshop machine / ोकऺॎ कॊय१षॊलॊ यॠআ पर ्Āथत धॐरॎ­दॠड
कॊ घॐण१न शॕग

Amount of torque applied      / ঋयॏঢ आघॐण१­बल कॎ मॊআॊ

Flow rate of liquids or gases in a closed tube / एक बĀ नोलकॊ म७ तरलख़ ॠ अथशॊ गॖऺख़ ॠ कॊ ঋशॊऻ दर

Correct Answer :­Flow rate of liquids or gases in a closed tube / एक बĀ नोलकॊ म७ तरलख़ ॠ अथशॊ गॖऺख़ ॠ कॊ ঋशॊऻ
दर 

94)

Question Stimulus :­

Mechanical

The desirable properties for any practical fluids:  / ोकऺॎ भॎ शॊĀोशक तरल ऻॕतॏ शॊॠछनॎय ोशषॕहतॊय७ ऻ॰:

should be viscous / गॊुॊ ऻख़नॊ चॊोऻए



should possess surface tension / प॑Ā तनॊश ऻख़नॊ चॊोऻए

should be compressible /  ॠऺपॎीन यख़৓ ऻख़नॊ चॊोऻए

all of the above / उपरख़ঢ ऺभॎ

Correct Answer :­all of the above / उपरख़ঢ ऺभॎ 

95)

Question Stimulus :­

Mechanical

The indicated power of SI engine is measured by: / एऺआई इॠजन कॎ  ॐऺोचत ष्ঢ इऺकॕ ကॊरॊ मॊपॎ जॊतॎ ऻॖ:

Ultrasonic test / परॊĀोनक परॎ঴ण

Tensile  test / नमनॎयतॊ (तကतॊ) परॎ঴ण

Morse test / मख़ १ऺ परॎ঴ण

Dynamometer  test / डॊइनॊमख़मॎटर परॎ঴ण

Correct Answer :­Morse test / मख़ १ऺ परॎ঴ण 

96)

Question Stimulus :­

Mechanical

In a household refrigerator, the cooling is achieved by: / एक घरॕलॏ ঋषॎतक म७, इऺकॕ ကॊरॊ षॎतलन ঋॊĀ ोकयॊ
जॊतॊ ऻॖ:



evaporator / शॊ्Āআ

driers / षख़ोहআ

compressor /  ॠऺपॎीक

condenser /  ॠऺघनक

Correct Answer :­evaporator / शॊ्Āআ 

97)

Question Stimulus :­

Mechanical

Which of the following property is increased by adding sulphur in steel? / इĀॊत म७ गॠधक कॕ ोमलॊन ကॊरॊ
ोनĀोल्खत म७ ऺॕ कग़न ऺॕ गॏण कख़ शोध१त ोकयॊ जॊतॊ ऻॖ?

hardness / कठख़रतॊ

corrosive resistance / ঴यरख़ोधतॊ

wear resistance / अपरदन रख़ोधतॊ

machinability / यॠআकम१ यख़৓तॊ

Correct Answer :­machinability / यॠআकम१ यख़৓तॊ 

98)

Question Stimulus :­

Mechanical



A rotor supported at A and B carries two masses (m) as shown in the figure. The rotor is: (E) / ोचআ
म७ दषॊ१यॕ अनॏऺॊर A एशॠ B पर मॠोडत एक घॐण१क दख़ ঈကमॊन (m ) शऻन करतॊ ऻॖ| शऻ घॐण१क ऻॖ:

Not balanced /  ॠऺतॏोलत नऻॎ ॠ ऻॖ

Dynamically balanced / गोतषॎल ॺप ऺॕ  ॠऺतॏोलत

Statically balanced / अचल ॺप ऺॕ  ॠऺतॏोलत

Statically and dynamically balanced / अचल एशॠ गोतषॎल ॺप ऺॕ  ॠऺतॏोलत

Correct Answer :­Statically balanced / अचल ॺप ऺॕ  ॠऺतॏोलत 

99)

Question Stimulus :­

Mechanical

Which of the following heat treatment process is suitable to remove strains caused by cold
working? / षॎतल कॊय१ कॕ ကॊरॊ घोटत ोशक॑ोतयख़ ॠ कॕ ोनरऺन ऻॕतॏ ोनĀोल्खत म७ ऺॕ कग़न ऺॎ ऊĀॊ उपचॊर ঋोॿयॊ उपयॏঢ ऻॖ?

Normalizing / ऺॊमॊကॎकरण

Hardening / Āुॎकरण



Tempering / तपन

all of the above / उपरख़ঢ ऺभॎ

Correct Answer :­Normalizing / ऺॊमॊကॎकरण 

100)

Question Stimulus :­

Mechanical

Conveyors are used when the material is transferred under which of the following conditions? /
ोनĀोल्खत म७ ऺॕ ोकऺ अशĀथॊ म७ ऺॊमঁॎ कॕ Āथॊनॊॠतौरत ऻख़नॕ पर ঋशऻणॎयख़ ॠ कॊ उपयख़ग ऻख़तॊ ऻॖ?

Continuous transfer of materials / ऺॊमोঁयख़ ॠ कॊ ोनरॠतर Āथॊनॊॠतरण

Uniform loads / एक ऺमॊन भॊर

Fixed routes / ोनयत (अपौरशत५) मॊग१

all of these / उपरख़ঢ ऺभॎ

Correct Answer :­all of these / उपरख़ঢ ऺभॎ 


